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Report on the Economic indicator Survey in Changwon-si
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0. ALl JI=8

0-1. AtSHANl & &

=

2 = AbS | 2 Sy = AbRF Sy

2 0 1 8 65,376 100.0 325,622 100.0
2 0 2 0 68,258 100.0 385,874 100.0
< A O e 20,677 30.3 72,413 18.8
s A = g o 18,447 27.0 57,187 14.8
O/t nE/ 2% 4,562 6.7 47,979 12.4
2 = | HESU/3BBEH/EsH 2,975 4.4 39,406 10.2
MW/ AL/ 3,567 5.2 43,033 1.2
n /2 2HAMS =X 7,399 10.8 76,861 19.9
Ol & 0 2t/ %= 2 & DI Et 10,630 15.6 48,994 12.7
4 ol ol ot 54,305 79.6 105,646 27.4
=AK | 5 ~ 9 ol 7,386 10.8 46,898 12.2
"+ 21 1 0 ~ 9 9 ¢ 6,412 9.4 196,500 50.9
1 0 0 o o & 155 0.2 36,830 9.5
ol =] = 18,624 27.3 106,794 27.7
= A = 13,903 20.4 89,136 23.1
D= 1 14,027 20.5 71,344 18.5
o & 35 & 3 11,195 16.4 67,357 17.5
Xl o = 10,509 15.4 51,242 13.3
Hoooel AF g A 56,677 83.0 161,298 41.8
= = | 3 Ab = ol 8,211 12.0 145,617 37.7
g B s A o 2 " o 2,061 3.0 66,407 17.2
T e = | 1,309 1.9 12,552 3.3
2 00 0 @ o A 9,799 14.4 89,187 23.1
2001 ~20054 6,949 10.2 71,857 18.6
i i 2006 ~20104 8,139 1.9 40,442 10.5
- 2011 ~20154 13,223 19.4 90,834 23.5
2016 ~20204 30,148 44.2 93,554 24.2
@ = A9 A 62,460 91.5 250,104 64.8

NE= Dl
5 2| E Ao, 2 B S 1,040 1.5 24,814 6.4
AR HE,9dAS 4,758 7.0 110,955 28.8
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(=10 %, Al)
T = & A | oomoist | som | 4om | soot | eomiol | ©
2 0 1 8 100.0 3.0 11.7 25.5 36.8 23.0| 51.6
2 0 2 0 100.0 2.1 11.0 24.1 34.9 27.9| 52.6
[ A il o 100.0 1.1 11.0 22.4 35.3 30.1 53.1
g A & g2 o 100.0 4.0 11.9 25.3 32.6 26.2| 517
MOl /ot /HAE /2% 100.0 1.4 2.2 22.3 37.4 36.8| 56.1
o B | FJ2SU/ZBEH/RSH 100.0 - 8.1 23.2 43.7 25.0| 535
HEust/ AR R/ 100.0 1.0 6.6 26.8 33.9 31.7| 53.8
L Se/22AAMN =X 100.0 - 14.9 33.8 36.9 145  50.1
Ol & o Ot/ % 2l ¥ Il E 100.0 3.5 12.9 18.5 33.6 31.5 52.8
4 ol ol ot 100.0 2.4 10.9 25.3 34.5 26.9| 52.4
=M | 5 ~ 9 ol 100.0 2.3 16.2 20.8 33.9 26.9| 515
"+ 21 1 0 ~ 9 9 ¢ 100.0 - 6.4 17.4 38.9 37.3 55.6
1 0 0 @9 o & 100.0 - 5.8 13.5 45.8 348| 56.8
9l & 3 100.0 2.3 7.6 27.4 36.1 26.6| 52.6
= A 3 100.0 1.1 11.6 30.0 30.7 26.6| 51.6
N ob & @ o= 3 100.0 1.3 10.4 20.1 35.5 32.8| 542
I PN T 100.0 1.1 12.4 20.7 36.0 29.7 | 53.1
X ot = 100.0 5.4 15.6 19.2 36.4 235 | 51.1
Moo A g A 100.0 2.4 12.3 25.0 34.4 25.9| 52.0
x = | 3 Ab = ol 100.0 0.8 5.6 21.7 35.1 36.8| 54.7
g ®H] 3 A o o2 @ o 100.0 - 0.2 12.8 40.7 46.3 58.2
B o® oo o A 100.0 - 5.7 17.2 47 1 30.0| 559
2 0 0 0 & o A 100.0 - 0.7 7.2 32.8 59.3| 61.2
2001 ~2005 100.0 - 0.0 15.6 42.0 42.3 57.9
i i 2006 ~20104 100.0 - 6.6 19.5 44.0 29.9 55.0
- 2011 ~2015 4 100.0 1.3 1.1 27.3 35.2 25.1 51.5
2016 ~2020 4 100.0 4.2 18.0 31.3 31.4 15.1 48.4
O N = 100.0 2.3 11.3 24.3 35.0 27.1 52.4

AL R
S o 2N 2 B S 100.0 - 5.4 32.9 21.4 40.2| 543
ALK E,gd4S 100.0 - 8.6 19.5 36.9 35.1 54.1
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5.8

JIEt
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8.2

16.0
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17.9
17.7
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11.4
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2-0-1. At A EEf-HE

(=9 %)
A2
2 =
AR ol Xt NS

2 0 1 8 24.4 69.9 5.3
2 0 2 0 26.2 69.1 5.1
< A il o 24.4 70.9 5.2
g & & g2 o 21.5 76.9 1.6
O/t / AL/ 2% 34.0 56.2 10.5
2 = | HEEUN/2BEH/BSH 39.9 44.3 16.6
ME2WE/ AL/ A 19.8 70.5 9.8
s /8 AHAME 2 35.1 58.8 7.1
Ol =0l Ot/ %2l & J| E 26.7 70.9 2.4
4 ol ol ot 24.6 71.8 4.0
= AR 5 ~ 9 el 28.7 66.7 5.5
7 21 0 ~ 9 9 ¢ 36.6 49.7 14.2
1 0 0 o o & 53.5 44.5 7.1
ol & - 22.8 72.8 5.4
= & = 27.4 68.8 3.9
XN oF A BomoR 27.9 64.5 7.6
o & 3 9w 3 23.7 72.3 3.9
X ot = 31.0 65.4 4.0
Hoooel AF 2 A 24.3 73.3 2.7
x = | & At = ol 31.7 57.4 1.3
g Bl 3 A o oA g o 44.5 20.9 36.0
T = < = s 43.4 34.5 22.1
2 0 0 0 ¢ o A 47.6 45.1 9.1
2001 ~2005 50.4 45.0 4.6

¥ A
o o | 2006~20104 30.3 64.6 5.1
- 2011 ~20154 17.6 75.1 7.3
2016 ~2020 ¢ 16.4 80.9 2.9
¢ = A 29 A 25.5 71.0 3.8

AR
5 = 2 A 2 = s 30.2 60.6 9.7
NA-X &, g 2SS 34.2 45.9 21.1
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2-0-2. AtHl A7 SEH-OHE

(it %)
S
2=
= Uz DA

p) 0 1 8 21.3 73.4 4.7
2 0 2 0 19.2 77.7 3.5
A o o 20.7 74.5 5.6

o =
= Al o 17.8 80.5 1.7
4 ol ol 5t 19.0 78.2 3.1
=ax| 5 ~ 9 ol 15.8 79.0 5.3
T =2l 4 0 ~ 9 9 o 255 66.7 7.8
1 0 0 o o & 72.7 27.3 -
o e o 115 85.6 4.3
S Al =) 18.1 77.8 4.0
N oo of &4 8 9 m 3 21.0 72.0 7.1
o &4 & o 7 002 77.8 -
S| i S 08.2 71.8 -
W Ao Al 18.5 79.0 2.9
= = | 3 At e ol 33.5 58.5 8.0
g8 M| 5 A o o @ o 0.8 - 99.2
HOoo® oo o - - -
2 00 0 & o = 41.4 55.0 7.3
2001 ~2005 38.5 61.5 -

A
2006 ~2010 15.6 84.4 -

o T
2011 ~2015 9.2 81.9 8.9
2016~2020 17.3 80.7 2.0
g o= A4 o A 18.4 79.1 2.9
AL VR e m = ) ) )

2 =
A X E, 9 4AS 33.7 50.6 15.8
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-
g A
e 2 Xt =

860.3 573.2 255.3 31.8
694.1 936.3 619.9 403.4
726.4 186.7 952.9 92.4
138.6 247.5 110.3 39.5
1,897.6 3,985.7 797.2 898.5
599.3 1,184.3 213.1 194.0
440.8 1,759.6 100.9 220.5
518.4 1,164.2 154.7 273.5
1,312.3 1,045.9 1,384.7 2,137.0
125.2 190.3 104.8 83.2
428.9 622.3 301.9 882.9
5,494.9 4,673.8 7,359.7 899.2
14,051.0 23,023.0 3,201.2 4,194.7
502.0 1,649.5 127.3 613.9
306.4 726.0 136.1 345.0
1,174.9 657.9 1,512.4 215.7
973.2 307.9 1,226.3 332.2
608.2 1,099.6 377.4 532.4
152.7 260.5 118.2 97.8
3,820.8 2,569.6 5,121.4 583.8
1,462.4 2,423.2 334.2 874.3
3,313.5 7,469.2 58.5 218.8
588.9 1,018.1 168.3 313.7
460.2 780.2 116.8 313.9
949.8 2,569.8 157.5 1,366.5
1,929.6 424.3 2,440.2 296.0
171.3 395.6 124.8 187.3
426.9 709.8 340.1 113.4
1,424.6 2,126.8 1,229.1 388.8
4,041.9 2,925.0 6,124.4 1,091.8
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124.0

36.4

5.5

227.4

131.1
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1%
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470.5
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39.5

ol

70.3

111.5

2,945.4

21,527.0
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107.3

91.6

671.7

112.7

69.4

217.5
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85.3

161.2

113.2

94.8

904.7

98.9

52.3

28.5

19.5

35.1

FA

o

EH

1%

Iz

77.9

3,067.1

110.4

80.9

640.4

7,755.0

78.6

4,877.0

29.8

10.0

49.0

o

e

o

119.9

112.8

800.6

93.0

105.1

223.7

202.1

76.2

120.1

50.1

54.9

96.3

964.9

88.8

9.5

37.6

31.0

1%

O =

on

on

78.9

3,061.7

86.8

593.8

78.5

5,647.7

29.8

29.1
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2-1-1. MM ES=

OH
=

5ui~

&~

5& ~

2 = =] SREE | dora | smore joig | goim s5E H

ot gier | oier | ojer | orer | O1€
2 0 1 8 100.0 | 14.2| 132| 59.0| 10.4 2.4 0.8| 3,964
2 0 2 0 100.0 9.0/ 16.3| 55.4| 14.6 3.2 1.4 | 4,649
< A OH o 100.0 | 11.1 154 53.4| 156 2.7 1.8 | 7,646
s A &5 % o 100.0 44| 143| 649 121 3.3 1.1] 2,836
Ol /ot /AL/2% 100.0 | 22.1| 28.3| 43.6 3.0 1.6 1.4| 2,036
o = | HEEHN/Z8EEH/REsH 100.0 84| 247| 388 4.0 7.9| 16.2| 18,191
M2 s/ AL/ A 100.0 | 21.6| 21.6| 442 9.6 3.1 -] 1,850
nS/2AME =D 100.0 7.3 78| 51.0| 265 7.3 -| 3,429
ol =0 ot/ 22l & Dl EF 100.0 69| 202| 540 17.2 1.7 -| 2,306
4 ol ol ot 100.0 92| 17.9| 585| 11.9 2.1 0.4| 2,433
=AM | 5 ~ 9 ol 100.0 7.8 6.5| 37.0| 357 9.9 32| 6,173
7 21 0 ~ 9 9 o 100.0 85| 11.3| 435| 16.7 82| 11.8|31,671
1 0 0 o o & 100.0 1.8 9.1 60.0| 16.4 3.6 9.1 14,705
9| & = 100.0 | 11.0| 135| 556/| 14.7 3.6 1.7 | 3,287
= o 7 100.0 6.4| 13.8| 587| 17.6 2.6 0.9 | 4,041
D = N o 100.0 | 12.2 87| 57.7| 17.1 1.3 3.1 10,448
] T ] 100.0 53| 29.8| 47.9 9.7 6.7 0.7 | 2,928
X oH 3 100.0 82| 20.1| 56.9| 129 1.8 - 2,172
Mool AF g A 100.0 86| 16.6| 57.3| 143 2.5 0.7 | 2,758
x = | 3 At = ol 100.0 89| 146 41.9| 175| 10.9 6.3 | 20,027
g B o3 A o oA @ o 100.0| 11.3 - 46.9 0.8 0.4 | 40.5 | 54,369
HE ® o & R 100.0 | 45.7| 18.0| 16.3| 20.0 - -| 1,857
2 0 0 0 & o A 100.0 | 12.4| 13.4| 556 9.4 6.0 3.2 | 4,729
2001 ~2005 4 100.0 | 17.0| 30.6| 40.4 7.7 3.6 0.8| 2,053
i i 2006 ~2010 ¢ 100.0 | 14.3| 14.0| 547 9.4 7.5 -| 2,804
- 2011 ~20154 100.0 6.9| 20.7| 49.1| 21.0 0.6 1.7 | 9,277
2016 ~20204 100.0 7.1 138 59.9| 15.0 2.9 1.3| 3,556
6= A2 A 100.0 94| 165| 56.5| 143 2.6 0.7 | 2,763
ﬁgi =2 A 2 & = 100.0 02| 20.7| 456| 206 4.4 8.4| 5,766
NA-XE,ddArsS 100.0 15| 10.1| 332| 19.0| 19.7| 16.5] 50,359
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2-1-2. AXAIHCS BEZ AXZ(SA)

(2l %, O+
50~ | 100~ | 300~ | 500~
e g o 02| 00 | 00 | 500 | 1000 | 5a) | g
" o | e | o | ooe | 09

2 0 1 8 100.0 | 37.6| 27.2| 287 2.9 2.4 1.2 121
2 0 2 0 100.0| 35.0| 29.6| 285 3.5 2.7 0.7 206
< A O o 100.0 | 33.9| 29.1| 31.8 2.6 0.9 1.7 395
s A &5 % o 100.0 | 296| 32.7| 29.4 5.2 3.1 0.0 121
Ol /st /AE/22 100.0 | 48.7| 27.3| 17.3 2.7 2.8 1.3 109
o = | HEEHN/Z8EEH/REsH 100.0 | 36.6| 26.8| 24.3 2.0 8.3 2.0 197
M Ws /ML A 100.0 | 56.3| 286| 11.8 1.6 1.7 - 68
nS/2AME =D 100.0 | 30.1| 26.4| 34.9 3.4 5.2 0.0 133
ol =0 ot/ 22l & Dl EF 100.0 | 38.1| 282| 26.9 3.4 3.4 0.0 116
4 ol ol ot 100.0 | 39.0| 32.3| 26.6 1.5 0.3 0.3 87
=AM | 5 ~ 9 ol 100.0 | 14.5| 13.5| 43.1 18.8| 10.0 - 233
"+ 21 1 0 ~ 9 9 ¢ 100.0 | 16.1| 20.1| 30.3 53| 21.9 6.3| 1,701
1 0 0 o o & 100.0 | 17.9| 254| 239 45| 14.9| 134 1,117
9| & = 100.0 | 33.4| 26.1| 34.0 2.4 3.3 0.9 127
= o 7 100.0 | 32.8| 20.3| 342 9.5 3.2 0.0 135
D = N o 100.0 | 33.9| 31.8| 282 2.8 1.5 1.8 583
] T ] 100.0 | 43.9| 36.0| 15.6 1.6 2.8 0.0 88
X oH 3 100.0 | 32.6| 39.3| 249 0.5 2.2 0.5 105
Mool AF g A 100.0 | 385.2| 30.5| 285 3.0 2.4 0.3 107
x = | 3 At = ol 100.0 | 30.2| 23.9| 305 5.5 5.5 4.4 1,141
g B o3 A o oA @ o 100.0| 16.2| 22.9| 16.8| 37.0 6.9 0.3 272
HE ® o & R 100.0 | 81.3 - 187 - - - 45
2 0 0 0 & o A 100.0 | 38.1| 325| 227 3.0 3.7 0.0 104
2001 ~2005 4 100.0 | 486| 21.7| 288 0.0 - 0.8 100
i i 2006 ~2010 ¢ 100.0 | 46.0| 33.1| 17.7 0.6 2.6 0.0 77
- 2011 ~20154 100.0 | 33.2| 22.1| 329 5.0 5.2 1.6 571
2016 ~20204 100.0 | 30.9| 32.5| 30.1 4.1 1.9 0.5 115
6= A2 A 100.0 | 36.1| 29.9| 285 3.0 2.3 0.3 106
2@;' =2 A 2 & = 100.0 | 285| 36.6| 24.9 0.2 0.3 9.4 274
NA-XNE, S8 A4S 100.0 | 135| 21.2| 30.6| 16.0| 12.3 6.4| 2,244
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2-2-1. Et X o Xt S UHCOE A=
2l %)
2] N B o
2 0 1 100.0 15.1 42.7
2 0 2 100.0 20.2 35.2
[ 0H 100.0 17.8 39.9
= = 100.0 22.7 34.0
i) A 100.0 27.3 18.8
8 =| IHE S8 100.0 22.9 20.1
o2 =N 100.0 32.5 27.0
Il Ab 100.0 20.4 27.3
ol &= 2l 100.0 13.2 44.2
4 ol 100.0 22.2 35.2
=AK | 5 9 100.0 5.8 41.4
" 2 100.0 17.6 26.2
1 ol 100.0 26.1 26.1
ol & 100.0 13.8 32.7
= & 100.0 19.0 411
X | oot 8 = 100.0 24.2 37.6
ot | 100.0 24.0 39.2
X Gl 100.0 24.7 24.3
H A 100.0 19.2 36.6
x = | 3 = 100.0 25.8 26.6
g H| g el 100.0 21.1 30.8
HI ol 100.0 57.6 0.2
2 ] 100.0 14.2 40.3
200 20 100.0 32.7 32.7
o
o o | 20068~=20 100.0 27.2 21.1
- 20 1 20 100.0 17.3 35.9
20 1 20 100.0 19.4 37.5
= Ab 100.0 20.0 35.4
AGH | -
5 | E = 100.0 15.9 46.3
X AH-XH, g s 100.0 25.6 28.7
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2-2-2. Et X9 UX=z H -4, SAZAA
(210 %)
o= 8 UGB LY SUs 2= HI# el

2 0 2 0 100.0 32.5 44.6 22.9
= A it o 100.0 30.7 41.6 27.7
=N 100.0 33.0 45.4 21.6
MOl /st /AL /2% 100.0 47.2 42.6 10.2
o E| HESH/28RE/RESH 100.0 33.8 59.1 7.1
H2nE/ASR S/ A 100.0 451 42.7 12.2
DE/E2AMNE =T 100.0 31.6 56.0 12.5
M=ot/ 22 2 JlE 100.0 26.0 41.3 32.7
4 ol ol at 100.0 34.5 43.1 22.5
=AR | 5 ~ 9 ol 100.0 22.4 48.7 28.9
T =2/ 1 0 ~ 9 9 o 100.0 24.0 57.3 18.7
1 0 0 o o & 100.0 34.8 49.3 15.9
ol & = 100.0 33.4 39.7 27.0
S & -] 100.0 21.5 53.6 24.9
A oo ob &4 g = o3 100.0 43.5 36.4 20.0
] TR - - 100.0 22.7 47.6 29.7
P 3 = 100.0 43.1 49.1 7.8
b/ < V= R 100.0 31.8 43.8 24.3
x = | 3 Ab = ol 100.0 36.8 51.9 11.3
g ®| g A o o " o 100.0 51.7 42 6 5.7
T T - TR = < 100.0 31.7 42.2 26.1
2 0 0 0 ¢ o & 100.0 42.6 37.1 20.3
2001 ~2005 100.0 36.5 62.4 1.0

& o
o | 2006~20104 100.0 35.1 51.0 13.9
N 2011 ~2015 4 100.0 26.0 48.2 25.8
2016 ~2020 ¢ 100.0 32.2 40.9 26.9
¢ = A9 A 100.0 32.4 44 1 23.5

INE=B<
S| 2N B B S 100.0 44.7 46.2 9.1
X A-X &, AS 100.0 30.4 54.2 15.4
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2-2-3. B} XIEgWel 2AXZE dHlu |

(29 %)
o= = Mool Sast £=0 ol
2 0 2 100.0 51.1 35.9 12.9
= A il o 100.0 46.1 38.4 15.5
s A = g o 100.0 55.7 36.1 8.2
Mo/t /AL 2% 100.0 62.2 28.9 8.8
o E| HESHM/2SBHE/RESH 100.0 55.8 38.8 5.4
He2ns/ AR/ L 100.0 61.2 30.3 8.4
ns/22HME =X 100.0 54.7 32.9 12.4
Ml=0iot/s2 ¥ JlE 100.0 42.4 36.3 21.3
4 ol ol at 100.0 53.6 34.7 11.6
=A% | 5 ~ 9 ol 100.0 36.2 451 18.7
T2 ~ 9 9 o 100.0 44.2 35.9 19.9
1 0 o o & 100.0 46.4 40.6 13.0
ol & 2 100.0 52.2 33.8 14.0
o & = 100.0 50.1 34.8 15.1
N o« ob &4 g =z 3 100.0 65.6 25.6 8.9
] T ) 100.0 37.7 41.2 21.1
X o - 100.0 47 .4 49.1 3.5
Moo A A 100.0 50.8 35.7 13.6
x = | 3 Ab = ol 100.0 55.3 37.9 6.8
g | g A o o g o 100.0 63.1 31.2 5.7
T T TR = < 100.0 31.7 42.4 25.9
2 0 0 & o & 100.0 61.0 31.8 7.3
2001 ~2005 100.0 47.5 51.5 1.0
f i 2006 ~2010 100.0 52.3 38.4 9.3
N 2011 ~20154d 100.0 45.3 36.4 18.3
2016 ~2020 4 100.0 52.0 33.9 14.1
¢ = A9 A 100.0 51.0 35.8 13.3
INR=B<

S o] 2N 2 & = 100.0 71.5 28.1 0.3
X A-X&E,ddAS 100.0 49.2 41.2 9.7
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2-2-4. & X

Ao AXtE Huw-=2W 1 2 XS

(=2l %)

2 = Mol SUs A= ARRELY

2 0 2 100.0 19.7 51.5 28.7
= o 100.0 19.4 52.1 28.5
= = 9 o 100.0 20.7 50.5 28.8
Mo/t /AL /2% 100.0 37.0 46.7 16.3
o E| HESHM/2SBHE/RESH 100.0 24.9 67.8 7.3
M2ns /AN U 100.0 26.3 52.1 21.6
i} 2 A3 =X 100.0 10.9 66.1 23.0
M=0iot/+2 ¥ JlE 100.0 14.7 42.7 42.7
4 at 100.0 21.3 50.8 27.9
=A% | 5 ol 100.0 9.0 53.0 37.9
T 2] 9 o 100.0 16.6 58.4 25.0
1 o o & 100.0 26.1 55.1 18.8
ol & -] 100.0 15.3 53.4 31.3
o & = 100.0 14.6 50.2 35.2
X« o g =z = 100.0 35.1 44.4 20.6
ot 3 2 = 100.0 15.2 47.5 37.4
X o P 100.0 20.8 64.0 15.2
oM AE A 100.0 18.5 51.2 30.3
x = | 3 ol 100.0 26.9 53.9 19.2
g o g Boool 100.0 46.2 48.1 5.7
HI o = Al 100.0 31.7 60.5 7.8
2 0 o & 100.0 19.8 53.1 27.2
20 2005 4 100.0 28.8 55.7 15.5
f i 2006 ~2010 100.0 21.3 57.4 21.3
B 20 1 20154 100.0 14.4 55.3 30.2
20 1 20204 100.0 20.4 47.9 31.7
= AEE 100.0 19.6 51.3 29.1

INR=B<
5 o = ¥ = 100.0 26.0 55.7 18.2
Xl Ab - X o A S 100.0 20.1 54.8 25.1
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3-1. Z3HXI0I= JtYW o2

(41t %)
It BE AL 0%
o= 8
ol oL 2
2 0 2 100.0 11.9 88.1
= A il o 100.0 8.8 91.2
s A 5 ¢ o 100.0 28.5 71.5
Mol /et /A8 /2% 100.0 0.7 99.3
o = | FBsHM/28RE/EsSH 100.0 - 100.0
M2/ AR R/ 100.0 - 100.0
ng/22HAMNE 2T 100.0 3.3 96.7
W=odt/22 < Il 100.0 7.0 93.0
4 ol ol at 100.0 10.7 89.3
= AbKH 5 ~ 9 el 100.0 23.0 77.0
T 2/ 1 0 ~ 9 9 o 100.0 9.1 90.9
10 0 @9 o & 100.0 - 100.0
ol & P 100.0 19.0 81.0
o & - 100.0 9.7 90.3
Ao of & g o= o3 100.0 10.3 89.7
[ 100.0 7.4 92.6
X 3 - 100.0 9.2 90.8
Mool A Al 100.0 13.6 86.4
= = | & Ab = ol 100.0 5.1 94.9
g B 35 A o o g o 100.0 - 100.0
T = B T = < 100.0 - 100.0
2 0 0 0 & o & 100.0 2.8 97.2
2001 ~20054 100.0 3.8 96.2
fi 2006 ~2010 ¢ 100.0 6.6 93.4
N 2011 ~2015d 100.0 14.7 85.3
2016 ~20204 100.0 16.9 83.1
6= A9 A 100.0 12.3 87.7
AL A

S o 2N B2 B S 100.0 - 100.0
XN AR &, 9 as 100.0 8.8 91.2
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3-2. TEiXI0|= Jtyated At A

E=27|2t

(Sl %)
10/ | 304 | 5E=0[4

7 =2 = 1E0IL | o oior | ~swnier | ~qomnper | 102101€

2 0 2 100.0 10.7 30.1 26.3 22.8 10.1

[ A O o 100.0 7.3 20.9 28.6 28.9 14.3

= 100.0 13.9 33.4 22.1 22.3 8.4

MOl /Gt /AE/22 100.0 - - - 100.0 -

o = | ZESN/2sSBH/EsH - - - - - -

H2ns/AGR Y/ Y - - - - - -

ne/22A AN =X 100.0 - 66.7 33.3 - -

Wlz0idt/22 ¥ JlE 100.0 - 17.7 49.4 16.5 16.5

4 ol ol ot 100.0 10.1 31.6 26.9 19.8 1.7

=% | 5 ~ 9 ol 100.0 17.0 17.4 33.9 23.7 7.9

"+ 2/ 1 0 ~ 9 9 o 100.0 - 50.0 - 50.0 -

1 0 0 @ o & - - - - - -

ol & -] 100.0 4.2 28.2 31.4 24.6 11.6

= A = 100.0 10.9 21.5 36.7 30.9 -

XNl oo & g o o=m 3 100.0 20.3 34.3 8.2 18.8 18.4

1/ PN T B 100.0 - 64.4 17.8 - 17.8

| o - 100.0 28.0 13.6 28.0 30.3 -

Moo A Al 100.0 11.1 27.5 27.3 23.6 10.5

= = | & Ab = ol 100.0 - 100.0 - - -

g Bl oa A 0o 9oy o - - - - - -

T - T = | - - - - - -

2 0 0 0 & o A 100.0 - - - - 100.0

2001 ~2005 100.0 - - - - 100.0

ii 2006 ~2010 100.0 - - 27.1 - 72.9

N 2011 ~20154 100.0 - - 6.3 93.7 -

2016 ~20204 100.0 16.8 47.3 36.0 - -

¢ o= Ao Al 100.0 11.1 27.5 27.3 23.6 10.5

AR e m = ~ ~ B B ~ ~
7 o=

AR E,9dAS 100.0 - 100.0 - - -
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ERANAL AY B3 - AIE AlD|

(S50 %)
2 = 2t 7 8?5' ‘01~'05 | ‘06~'10% | ‘11~'154 | ‘16~"20
2 0 1 8 100.0 20.7 10.6 19.3 26.2 -
2 0 2 0 100.0 14.1 10.3 12.3 19.4 44.0
< A O e 100.0 17.8 12.2 12.2 20.3 37.5
g A = g o 100.0 4.8 4.0 9.5 18.3 63.4
O/ /AL 2% 100.0 27.4 14.6 15.4 16.3 26.2
2 F| FESH/BE8RE/BsH 100.0 35.3 1.5 15.8 18.3 19.1
HM2DE/ ALY/ L 100.0 17.0 17.9 18.1 22.1 24.9
s /82 2HAM3 2 100.0 13.8 20.0 10.7 16.6 38.9
ol=0idt/ %2 %« JlE 100.0 10.5 5.8 14.0 22.1 47.6
4 ol ol ot 100.0 13.6 8.4 11.8 19.0 47.2
=M | 5 ~ 9 ol 100.0 12.2 16.1 15.9 15.8 40.0
7 291 0 ~ 9 9 ¢ 100.0 19.5 18.9 12.6 26.4 22.6
1 0 0 o o & 100.0 44.5 15.5 16.8 11.0 12.3
9l & = 100.0 13.3 9.4 12.0 17.2 48.0
o A = 100.0 13.6 9.6 12.8 19.9 44.1
X I N - 100.0 18.9 8.5 13.6 18.9 40.1
3 100.0 16.6 11.8 14.5 17.8 39.3
X Gl =) 100.0 6.9 13.3 8.0 24.7 471
Hoooer A Al 100.0 12.4 8.6 1.2 19.9 47.9
x = | 3 At = ol 100.0 20.5 17.1 17.8 18.2 26.3
g Hi 3 A 0 2 " ol 100.0 28.1 31.1 18.2 1.8 10.9
HE g o e A 100.0 23.2 7.8 16.4 14.6 38.1
2 0 0 0 ¥ o A 100.0 98.0 0.3 1.7 0.0 0.0
2001 ~2005 4 100.0 - 98.1 1.6 - 0.3

¥ A
o | 2006~2010 4 100.0 - - 99.7 0.3 0.0
N 2011 ~20154 100.0 - 0.3 - 99.7 -
2016 ~20204 100.0 - 0.4 - - 99.6
6= A2 Al 100.0 13.4 9.6 11.6 19.7 45.8

Ab e R
5 = = A 2 ® = 100.0 14.5 28.4 5.7 20.4 31.0
X A-XH,98 A4S 100.0 23.0 15.4 22.5 15.2 23.9
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S s enge | S5 Bola

= = 20| e nE oA
2 0 1 8 100.0 16.5 12.0 11.3
2 0 2 0 100.0 26.1 10.7 10.7
< A 0i o 100.0 24.8 11.6 11.6
S A = 8 o 100.0 27.0 11.9 6.4
MOl /Gt /AE /2 100.0 35.6 14.8 11.3
o = | FBEN/ZsRE/FsSH 100.0 8.8 5.9 14.1
MW/ AL/ A 100.0 21.0 11.5 13.8
ns/2AAMNE =T 100.0 19.2 9.6 13.4
Ml=0idt/22 % JlE 100.0 28.9 6.9 12.7
4 ol ol at 100.0 27.9 11.6 11.3
=A% | 5 ~ 9 ol 100.0 15.4 9.2 11.6
201 0 ~ 9 9 o 100.0 23.4 5.0 5.3
1 0 0 o o & 100.0 25.2 2.6 16.8
ol &t 2 100.0 20.1 11.0 7.6
o o 2 100.0 15.2 9.8 7.3
o | ob A @ om0 100.0 31.7 12.2 11.8
o &4 3 ®w 3 100.0 37.1 9.1 11.6
X o 2 100.0 32.4 11.0 18.7
Moo A YAl 100.0 26.5 11.2 10.7
x = | 3 Ab = ol 100.0 241 8.3 14.2
g B 5 A 0o o © o 100.0 27.8 8.0 2.5
B o8 o = A 100.0 20.9 7.8 6.3
2 0 0 0 & o & 100.0 28.7 7.1 10.0
2001 ~2005 100.0 36.6 12.3 10.7

o
o o | 2006~20104 100.0 24.7 13.8 16.6
N 2011 ~2015d 100.0 23.6 1.8 12.5
2016 ~2020 100.0 24.4 10.2 8.6
¢ o= Ao A 100.0 26.7 10.9 10.8
gi 2 A, 2 & S 100.0 23.4 9.7 24.1
T oM omE, gy as 100.0 19.4 7.7 7.5
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(=10 %)
BJf=
v E "S- | numa | nmam | =m | O®
=27

2 0 1 8 2.8 3.9 1.1 0.5 9.8
2 0 2 0 1.8 2.6 2.2 0.8 6.0
< A OH o 1.8 2.4 1.2 1.2 2.3
s A &= g o - 1.6 0.8 - 4.7
MO/t /AHE /2% 2.0 4.8 5.4 1.6 4.9
o I | HESH/38EE/2sH 2.5 5.0 2.5 1.6 8.5
M2/ ALY R R/ 5.9 4.1 2.2 2.0 7.7
me /2 AMNE = 3.0 3.0 9.3 0.0 8.5
Moot/ +2 % JlE 2.3 2.4 0.0 1.2 12.9
4 ol ol ot 1.2 1.5 0.9 0.8 5.5
= A K 5 ~ 9 el 2.6 6.7 6.5 0.8 7.1
7 2] 1 0 ~ 9 9 ¢ 6.0 7.4 7.5 1.0 8.8
1 0 0 o o & 2.6 6.5 12.3 5.8 6.5
ol & = 2.5 3.3 1.4 0.3 3.5
= o - 1.6 4.5 0.6 1.3 15.2
D= R | 0.9 2.4 2.7 1.7 1.2
o & 3 =€ = 2.6 1.7 2.0 0.7 2.2
Zl ot 7 1.0 0.0 5.3 0.0 8.8
Mool AF g A 1.6 1.6 0.7 0.8 5.9
x = | 3 Ab = ol 3.3 7.3 3.8 0.9 4.0
g Bl s A 0o 2 " o - 5.7 23.4 1.4 17.7
5= T < TR = < 5.2 1.3 23.9 1.8 4.5
2 0 0 0 & o ® 2.1 1.4 4.0 2.8 4.7
2001 ~20054d 0.4 1.2 5.9 0.0 4.1
ii 2006 ~20104 2.3 3.3 1.7 0.0 3.4
- 2011 ~20154d 3.3 3.7 0.5 1.2 7.6
2016 ~20204 1.2 2.6 1.6 0.4 6.9
¢ = A A 1.7 2.3 1.6 0.8 5.8

A
5 2| 2 M4 =2 8 S 0.2 5.6 3.3 0.2 11.0
NA-XE,9d4sS 3.8 5.8 9.1 0.6 7.6
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4-1-2. A0l =5t = ==

2l %)
1
=3 5ROl XI XHA e &
ol g/ | xax
29/
2 8 2.8 3.9 1.1 0.5 9.8
2 0 1.8 2.6 2.2 0.8 6.0
< A OH o 1.8 2.4 1.2 1.2 2.3
s A &5 82 o - 1.6 0.8 - 4.7
MO/t /HAE /2% 2.0 4.8 5.4 1.6 4.9
o = | FEEN/2Z8EEE/RSH 2.5 5.0 2.5 1.6 8.5
M2/ ALY R R/ 5.9 4.1 2.2 2.0 7.7
me /2 AMNE = 3.0 3.0 9.3 0.0 8.5
Moot/ +2 % JlE 2.3 2.4 0.0 1.2 12.9
4 ol ol ot 1.2 1.5 0.9 0.8 5.5
= A K 5 ~ 9 el 2.6 6.7 6.5 0.8 7.1
7 2] 1 0 ~ 9 9 ¢ 6.0 7.4 7.5 1.0 8.8
1 0 0 9o o & 2.6 6.5 12.3 5.8 6.5
ol & = 2.5 3.3 1.4 0.3 3.5
= o 7 1.6 4.5 0.6 1.3 15.2
o ook & g o=z o3 0.9 2.4 2.7 1.7 1.2
o & 3 =€ = 2.6 1.7 2.0 0.7 2.2
Zl ot 7 1.0 0.0 5.3 0.0 8.8
Mool AF g A 1.6 1.6 0.7 0.8 5.9
= = | 3 Ab = ol 3.3 7.3 3.8 0.9 4.0
g Bl s A 0o 2 " o - 5.7 23.4 1.4 17.7
5= T < TR = < 5.2 1.3 23.9 1.8 4.5
2 0 0 0 & o ® 2.1 1.4 4.0 2.8 4.7
2001 ~20054d 0.4 1.2 5.9 0.0 4.1
ii 2006 ~20104 2.3 3.3 1.7 0.0 3.4
- 2011 ~20154d 3.3 3.7 0.5 1.2 7.6
2016 ~20204 1.2 2.6 1.6 0.4 6.9
¢ = A A 1.7 2.3 1.6 0.8 5.8
Ab S R

5 2| 2 M4 =2 8 S 0.2 5.6 3.3 0.2 11.0
NA-XE,9d4sS 3.8 5.8 9.1 0.6 7.6
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4-1-2. FAA0 =5 & Ooln-==+ SE (A=S)

- = Pram | L5 | mam | fon | emss
= /ARt e e a4 =

2 0 1 8 24.6 20.1 26.6 63.4 8.9
2 0 2 0 39.2 23.3 36.5 65.9 8.2
< A ] o 37.6 23.1 43.8 71.6 4.7
s A = 8o 42.9 25.5 26.1 77.0 6.4
MOl /ot /AL /22 48.5 25.2 30.2 43.5 13.7
o E| HESH/282E/2SH 37.1 15.8 37.4 56.7 13.2
M2nE /ALY KR 27.8 29.8 39.0 47.3 21.0
DS/ 22AME X 31.1 19.2 36.4 63.3 12.3
Ml=0lJh/22 2 Il 41.7 22.0 41.8 55.8 7.0
4 ol ol at 40.3 25.6 37.9 67.0 6.1
=M% | 5 ~ 9 ol 35.0 17.4 36.0 66.5 6.2
2 10 ~ 9 9 ¢ 34.6 10.9 25.2 56.5 27.6
1 0 0 o o & 39.4 12.9 36.8 36.1 14.2
ol 2 2 37.7 23.4 33.6 75.1 9.3
o A - 25.0 18.5 41.2 70.6 6.2
p (= I P VA - S « S} 44.7 24.9 35.9 67.5 7.3
o & 3 = 3 53.4 25.5 34.0 50.9 13.3
X ol =] 37.9 24.9 38.8 57.4 4.5
Mool AE e A 39.3 24.4 37.4 68.8 6.7
x = | 3 Ab = ol 39.0 18.8 35.7 58.4 16.8
g B 5 A 0o o © o 42.4 20.0 26.7 37.3 4.1
= R TR = < | 29.8 9.8 15.1 32.4 24.8
2 0 0 0 W o A 40.7 20.9 36.7 62.7 11.2
2001 ~20005 4 47 1 22.9 37.2 58.4 8.1
i i 2006 ~2010 4 38.6 26.6 48.4 60.2 7.4
- 2011 ~20154 33.8 24.2 36.2 64.0 10.6
2016 ~20204 39.4 22.9 33.2 71.0 6.3
¢ s A9 A 39.7 241 36.8 66.1 7.3

INR=B<
S - 27.1 17.4 38.8 57.6 15.0
ALK E, g AS 35.0 13.8 31.4 65.0 17.5
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5-1. &= 54 OlUl Ol HE «L 0Ol™ X4
(&9 %)
S & 2 ;E 22 U] oy a1 o
%é A AEE = 2 %él U
2 0 2 0 |1000| 6.7]100.0| 79.8| 10.1| 93| 0.8 -| 933
< A il e 100.0| 7.4[1000| 923| 7.7 - - -| 926
2 & &% 8 2 [100.0| 10.3|100.0| 76.9| 7.7| 15.4 - -| 897
MOl /Gt /A& /2% 1000 1.5[100.0| 51.4 - -| 486 -| 985
2 I | HESH/BBEEH/®S4A | 100.0| 1.6]100.0 - -1100.0 - -| 984
M2ns /ALY /A | 100.0| 6.8]100.0| 69.4| 30.6 - - -] 932
WS/ AHAS =X 1000 54[1000]| 79.1 -] 207| o023 -| 946
Ml=0Jt/22 2 JlE |100.0| 35]100.0| 66.7| 33.3 - - -| 965
4 ol ol & [100.0| 7.0/100.0| 79.4| 10.1| 105 - -] 93.0
=A% | 5 ~ 9 o |100.0| 55|1000| 773| 86| 57| 84 -| 945
21 1t 0 ~ 9 9 o [1000]| 52|1000| 882| 11.8 - - -| 948
1 0 0 @ 0o & [1000]| 1.9|100.0| 66.7 - -| 333 -] 98.1
ol & 2 |100.0| 75[1000| 959| 25| 16 - -] 925
= & = [100.0| 5.6|100.0| 626| 187 | 187 - -| 94.4
o | o A B E 3 [100.0| 9.2|100.0| 859 - 14| 27 -] 90.8
o & 3 & P |100.0| 55(100.0| 76.1 63| 175| 0.2 -| 945
S ot 2 [100.0| 4.5|100.0| 49.6| 50.4 - - -| 955
Hoooer A @ M [1000]| 7.7/1000| 81.5| 88| 97 - -] 923
x = | 3 At = ol 100.0| 2.2]100.0| 39.1| 41.6 -] 193 -| 97.8
g B | 5 A 0o @ ¥ 9o [100.0| 0.0]100.0 - - - 1100.0 - 1100.0
Bl o® e e H® {1000 - - - - - - -1100.0
2 0 0 0 @ o & [100.0| 2.7]100.0| 996 - -1 04 -| 97.3
2001 ~20054 [100.0| 57|100.0| 60.1| 39.9 - - -| 943
i i 2006 ~2010% [100.0| 53|100.0/| 100.0 - - - -| 947
2011 ~201514 [100.0| 63]100.0| 636]| 323 - 4 -| 937
2016 ~20204 [100.0]| 87|1000| 826| 13| 16.1 - -] 91.3
¢ = A ™ |1000]| 7.1[100.0| 80.9| 96| 95 - -1 929
g:' =2 A 2 ® £ [100.0| 6.5|100.0| 483 51.7 - - -| 935
| ox AM-XH, QY9 A2 S 1000 0.7]100.0 - - -1100.0 -] 99.3

- 119 -



5-2-1. = 54 OlU OI& Al 1 RQ-F& SE

(21 %)
24 5t o} Xt

2 0 1 8 100.0 15.0 35.8 1.5 30.1
2 0 2 0 100.0 5.9 19.1 14.0 50.7
< A OH o 100.0 7.7 23.1 7.7 61.5
s A & g o 100.0 - 15.2 23.1 46.3
MO/t /AL 2% 100.0 98.6 1.4 - -
o I | HESH/38EE/2EsH 100.0 - - - 52.7
M2ns/AE XA 100.0 - 43.2 - 27.9
nE/22AAMNE 2R 100.0 20.9 - 20.7 37.7
M=0lJh/+2 2 Jl& 100.0 - 33.3 - 66.7
4 ol ol at 100.0 5.2 18.0 9.1 57.8
=AK | 5 ~ 9 ol 100.0 16.8 35.0 - 25.3
7 2] 1 0 ~ 9 9 ¢ 100.0 - 11.8 88.2 -
1 0 0 o o & 100.0 66.7 33.3 - -
ol & 2 100.0 - 29.4 26.7 42.3
= oF =] 100.0 - 15.1 - 61.7
Ao« ob a8 o=ZE 3 100.0 2.7 14.3 20.7 50.9
1] N TR - B! 100.0 38.2 25.4 - 17.5
X ot - 100.0 - - - 100.0
Moo A A 100.0 5.4 18.2 14.6 52.0
x = | 3 Ab = ol 100.0 19.8 40.9 - 19.6
g Bl s A 0o 2 " o 100.0 100.0 - - -
T = =T R < < - - - - -
2 0 0 0 49 o H 100.0 13.1 - - 86.9
2001 ~2005 4 100.0 - 70.0 - 30.0
i i 2006 ~20104 100.0 0.2 42.3 - 49.5
- 2011 ~20154d 100.0 18.3 0.1 35.0 28.9
2016 ~20204 100.0 3.1 15.6 13.2 57.2
¢ o= A9 A 100.0 5.3 18.8 14.3 51.1

R
N 100.0 - 48.3 - 51.7
ALK&, g asS 100.0 100.0 - - -
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5-2-1. 8= 54 Ol O|& Al D& QOI-=& 2S¢ (A=)

(&2 %)
Jl¢ed
o A =5 250l X RER ME 2
T 20| Nem/ | xamm 2 JNES
S|

2 0 1 8 0.2 2.4 1.6 0.0 3.4
2 0 2 0 5.5 - 0.8 - 4.0
< A OH o - - - - -
= Ty = =l s} 7.7 - - - 7.7
MOl /ot /HE /2 - - - - -
o = | NBEN/ZEEH/2SH 47.3 - - - -
s/ A KR/ - - 14.4 - 14.4
D /2 AANSEX 20.7 - - - -
M=ot/ 4+2 2 JlE - - - - -
4 ol 0l 5t 6.0 - - - 3.8
= A K 5 ~ 9 el 5.7 - 8.6 - 8.6
- 2 Tt 0 ~ 9 9 o - - - - -
1 0 0 9o o & - - - - -
9| & -] 1.6 - - - -
= & ] - - - - 23.2
X o o & B m 3 11.4 - - - -
o & 3 w3 13.3 - 5.6 - -
Zl o -] - - - - -
Moo A g A 5.7 - - - 4.1
x = | 3 Ab & ol - - 19.6 - -
g H 3 AF O 9 g ol - - - - -
= S - TR = S < | - - - - -
2 0 0 0 ® o ™ - - - - -
2001 ~2005 4 - - - - -

2 A
2006 ~2010 4 - - - - 8.0

o =
2011 ~2015 4 - - - - 17.6
2016 ~2020 4 9.6 - 1.3 - -
S o= Ao Al 5.6 - 0.8 - 4.1

Ab e R
2 A 2 3 = - - - - -

-
X ALK&, "9 A S - - - - -
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5-2-2. % 54 OlU OI& Al 1 RQ-=+ SE

(et

I: %)

40

- = Pras | L55y | Eam | fgu) | eues
< Atz so= 24 <

2 0 1 8 22.8 50.2 21.3 61.1 6.8
2 0 2 0 1.7 57.0 21.5 70.2 10.7
< A oM < 15.4 69.2 7.7 76.9 7.7
s A = 8 o 7.7 46.0 30.8 76.9 7.7
MO/t /HAE /2% 98.6 1.4 - 98.6 -
o Z| HESH/B8EE/RESH - - 52.7 52.7 47.3
M2/ ALY R R/ - 711 41.4 27.9 14.4
D s/2AAMS =X 20.9 62.0 37.7 38.0 41.4
W0t/ +2 % JlEt - 66.7 - 66.7 -
4 ol ol ot 12.2 54.8 15.3 75.5 11.2
=AM | 5 ~ 9 ol 16.8 43.6 25.3 77.2 14.2
7 2] 1 0 ~ 9 9 o - 100.0 88.2 - -
1 0 0 9o o & 66.7 33.3 - 66.7 -
ol & - - 85.4 26.7 62.9 4.1
= o - - 15.1 31.8 61.7 15.1
Ao« ob & g =z 3 14.2 44.5 25.7 94.9 1.4
o & 3 2 3 57.3 76.8 4.1 23.2 26.6
X i = - 50.4 - 100.0 -
Moo A" A 1.4 56.9 21.6 71.4 10.3
x = | 3 Ab = ol 19.8 60.5 18.4 39.5 19.6
g B 5 A 0o o © o 100.0 - - 100.0 -
= T < TR = - - - - -
2 0 0 0 & o A 13.1 56.2 - 100.0 30.7
2001 ~20054d 30.0 70.0 - 60.1 -

I
o o | 2006~20104 0.2 76.1 38.7 49.7 27.3
- 2011 ~20154d 18.3 78.3 35.0 33.0 -
2016 ~20204 8.7 45.3 19.7 83.8 10.9
@ = Ao A 1.2 57.6 21.2 70.2 10.1

A4
5 | E A, 2 B S - 48.3 48.3 51.7 51.7
NA-XH,gdAS 100.0 - - 100.0 -
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5-2-2. 8= 53 0| O|& Al D& Q-2 2S¢ (YD)

(et

I: %)

40

2 0 1 8 7.4 4.0 1.2 4.5
2 0 2 0 9.1 1.6 0.5 9.2
< A OH o - - - 15.4
= L 15.4 - - 7.7
O/t /AHE /2% - - 1.4 -
2 =| 2SN/ 8EE/RSH - - 47.3 -
M2 WE/ AL R/ L - 30.6 - 14.4
ns/82AMI =X - - - -
Moot/ +~2 % JlEt 33.3 - - -
4 ol ol ot 10.9 - - 10.0
= A K 5 ~ 9 el - 8.6 5.7 8.6
7 2] 1 0 ~ 9 9 ¢ - 11.8 - -
1 0 0 9o o & - - 33.3 -
ol z 2 19.2 - 1.7 -
= o 2 18.7 - - 23.2
Ao« ob & g =z 3 - - - -
o A& 3 & 3 - 11.9 - -
S ot - - - - 49.6
Mool AF g A 9.5 - 0.5 9.5
x = | 3 Ab = ol - 41.6 0.6 -
g ol 5 A o o @ o - - - -
= R < T = - - - -
2 0 0 0 W o ™ - - - -
2001 ~20054 - 9.9 - 30.0
¥ &
o o | 2006~2010¢ - - - 8.0
- 2011 ~20154d - - 0.1 17.6
2016 ~20204 15.8 1.3 0.9 4.5
@ = A9 A 9.3 1.7 0.5 9.4
AR N o= om = B B B B
2 =2
X A-X&H,9dAsS - - - -
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6. 2 B JUHE = &L 1 T JAAI2
(£l N, %)
o1 2} 129 B2 QAR
R
T = aeie | gy | 82 | Sy | o | A | 142
ES OI% | piet | oier | oier | 0¥
2 0 1 8 11.6| 100.0 27.0 39.6 18.1 9.3 6.1
2 0 2 0 11.6| 100.0 9.4 60.6 15.4 5.4 9.3
< A 0H o 11.9 100.0 3.4 63.4 19.0 3.5 10.6
S A = = o 11.3| 100.0 10.3 46.8 23.8 9.5 9.5
MOt/ A8 /2% 11.9] 100.0 3.5 79.6 3.4 4.1 9.3
2 = | FESH/282H/2SH 12.0| 100.0 3.4 93.3 2.5 - 0.8
DS/ AR Y 11.8| 100.0 5.5 92.6 1.8 0.0 0.0
g/ AMNE =X 11.8| 100.0 19.9 65.0 4.0 3.8 7.3
l&0iJh/42 2 JlE 11.4] 100.0 17.3 47.7 15.0 7.1 13.0
4 ol ol ot 11.6| 100.0 11.5 59.2 17.4 5.5 6.5
=M | 5 ~ 9 ol 11.7 | 100.0 1.9 57.0 10.7 5.5 24.8
/1 0o ~ 9 9 o 11.9] 100.0 0.4 76.4 4.0 4.8 14.4
1 0 0 o o & 11.9] 100.0 0.6 61.3 0.6 5.8 31.6
9l & = 11.7 | 100.0 4.5 64.1 15.5 6.6 9.3
= A - 11.6| 100.0 10.2 68.4 16.9 0.2 4.2
1 11.4| 100.0 3.6 64.2 16.1 3.8 12.2
ob & 3 A R 11.8| 100.0 13.4 52.9 14.2 10.8 8.8
X ot - 11.7 | 100.0 20.1 47.2 13.6 6.6 12.5
Moo AE Y A 11.6| 100.0 10.8 57.1 17.4 6.1 8.6
x = | &l Ab = ol 11.9] 100.0 3.5 81.2 5.5 0.8 8.9
g H 3 A 0 @ g o 12.0 | 100.0 - 61.8 5.1 6.4 26.6
HE o8 o e A 12.0| 100.0 - 79.4 5.2 5.2 10.2
2 0 0 0 & o A 11.9] 100.0 3.3 75.8 1.8 6.9 2.3
2001 ~2005 11.9] 100.0 7.3 67.4 16.0 1.5 7.9
f Ai 2006 ~2010 11.9] 100.0 1.8 64.1 10.2 5.1 8.8
|l 2011 ~2015 g 12.0| 100.0 1.7 58.2 1.5 7.5 11.0
2016 ~20204 11.3| 100.0 10.1 54.1 19.5 5.0 1.2
@ = A g A 11.6| 100.0 9.8 59.2 16.6 5.7 8.7
gi' = N, 2 #H = 11.7 | 100.0 7.9 91.5 - 0.1 0.5
T A E, gy s 12.0| 100.0 3.6 71.2 2.7 3.5 19.0
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7. 8 3| 2R+

(2l %)

=oo oo | 24 | 2. | =g
2 0 1 8 100.0 25.5 6.6 11.8 31.2 5.4 19.5
2 0 2 0 100.0 31.4 7.6 8.4 27.3 4.4 20.9
[ A 0 e 100.0 31.8 8.6 9.3 30.4 5.8 14.0
g A = g ¢ 100.0 43.6 11.1 15.1 23.8 3.2 3.2
O/t H/A8/2% 100.0 19.1 2.7 3.5 28.9 9.0 36.8
2 E| FESH/EBERE/2ESH 100.0 5.9 - 0.9 13.6 8.3 71.4
M2 UE /ALY 100.0 24.9 3.9 3.7 18.2 9.9 39.5
L E/822AA3 22X 100.0 7.5 4.5 3.3 28.6 3.0 53.1
oot/ 2 ¥ JlE 100.0 40.7 7.0 4.7 32.3 - 15.3
4 ol ol ot 100.0 32.4 8.9 9.3 30.2 3.0 16.3
=M | 5 ~ 9 ol 100.0 33.4 2.3 1.7 20.7 8.6 33.4
- 1 0 ~ 9 9 ¢ 100.0 21.2 3.1 9.1 10.5 1.3 44.8
1 0 0 o o & 100.0 30.3 - 5.8 14.8 5.2 43.9
ol & = 100.0 36.4 2.5 7.6 25.2 4.1 24.2
A o = 100.0 22.4 7.4 12.9 26.6 10.3 20.4
X oh a3 =P 100.0 30.8 8.1 8.7 32.8 1.3 18.3
] PN TR - R 100.0 31.3 8.1 7.2 30.5 1.8 21.1
X oH = 100.0 35.6 15.6 5.1 20.9 4.2 18.8
Moo AE e A 100.0 34.1 8.7 9.3 29.8 4.0 14.1
x = | 3 At = ol 100.0 18.6 3.2 3.1 17.0 8.7 49.4
g H 3 A O 2 g o 100.0 24.2 - 10.4 6.2 2.8 56.3
T N T s 100.0 7.0 - - 14.3 - 78.7
2 0 0 0 ¢ o A 100.0 25.6 1.5 6.1 30.2 3.8 32.7
2001 ~20054 100.0 27.7 2.2 0.0 30.9 8.7 30.4
i :i 2006 ~2010 100.0 23.4 13.6 12.4 26.6 4.0 20.0
- 2011 ~20154 100.0 27.7 7.0 13.2 28.8 5.1 18.2
2016 ~2020 4 100.0 38.0 9.4 8.0 24.9 3.4 16.2
6= A2 Al 100.0 32.6 8.1 8.6 28.5 4.1 18.1

Ab A
5 = 2 A, 2 7 = 100.0 12.1 - - 9.0 23.4 55.6
NAH-X &, 3 as 100.0 20.0 2.7 8.7 14.7 4.4 49.5
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2¢ct 22 8
- - Q=

= 2 B8 | Ly |mmew| o | D
gg| =°
2 8 100.0 14.4| 100.0 64.0 24.6 1.4
2 0 100.0 22.4 | 100.0 57.2 33.4 9.4
o o 100.0 15.7 | 100.0 67.2 29.1 3.7
AL &x 8 o 100.0 31.6| 100.0 32.5 57.5 10.0
N/t a/AE/2 % 100.0 9.7 | 100.0 56.5 28.4 15.1
o = BEN/ZE8BE/REN 100.0 31.9| 100.0 74.4 13.0 12.5
S WS/ AS X/ Y 100.0 24.3 | 100.0 76.1 19.6 4.2
2 A8 = X 100.0 29.7 | 100.0 71.3 17.5 1.2
=040t/ 22 ¥ JlE 100.0 16.5| 100.0 84.8 0.1 15.1
ol ot 100.0 18.7 | 100.0 54.9 37.7 7.4
= A X 9 ol 100.0 32.5| 100.0 59.4 28.9 1.7
" 2 ~ 9 ¢ 100.0 41.8| 100.0 63.8 21.9 14.4
o &t 100.0 50.3 | 100.0 67.9 12.8 19.2
2 100.0 24.8 | 100.0 61.6 25.5 12.9
=] 100.0 27.9| 100.0 54.5 36.5 8.9
oo z 100.0 16.3| 100.0 68.7 27.6 3.7
- 100.0 23.9| 100.0 44.7 42.8 12.5
- 100.0 17.5| 100.0 55.7 40.2 4.1
o 100.0 20.4 | 100.0 52.5 40.5 7.1
x = = ol 100.0 34.0| 100.0 80.6 10.4 8.9
g Hi 0l 8ol 100.0 36.4 | 100.0 50.3 0.7 49.1
e A 100.0 14.5| 100.0 30.5 69.5 -
0 & o H 100.0 16.0 | 100.0 67.1 13.4 19.5
~20054d 100.0 21.3| 100.0 70.4 17.4 12.2
i i ~20104 100.0 12.6 | 100.0 65.4 17.9 16.8
- ~20154d 100.0 21.4 | 100.0 49.4 39.6 11.0
~20204 100.0 27.9| 100.0 54.7 39.7 5.6
e A 100.0 20.4 | 100.0 54.5 37.9 7.7

A S A N = B
S 5 = 100.0 40.9 | 100.0 85.1 14.9
H,9 94 s 100.0 45.2'| 100.0 68.0 13.6 18.5
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on

P

£27,

HOIAS

S SNS

o2
AOIE

100.0

36.6

100.0

43.0

1%

R [R@|o| w

=

2

100.0
100.0
100.0
100.0
100.0
100.0
100.0

3.8
3.2
7.0

36.4
47.5
21.5
13.0
27.3
53.9
56.4

7.7
7.8
3.8

re

o

0z

100.0
100.0
100.0
100.0

24.7
25.8
2.2
3.8

50.1

40.0
19.9

141

0.8
2.4

Xl

1

100.0
100.0
100.0
100.0
100.0

15.7
23.1
23.5
27.5
16.0

42.1

46.9
37.6
32.0
60.0

0.6
0.8
1.5
1.8

P

o

100.0
100.0
100.0
100.0

27.0

0.3

51.4
22.0
3.6

0.2
2.1
3.1
18.0

e o

!

oz
!

!

100.0
100.0
100.0
100.0
100.0

27.3
31.5
27.7
34.8
52.7

2.1
1.6
3.3
1.8

on

on

100.0
100.0
100.0

46.7
25.7
24.5

EFIMUIAE &

OH X2+ 2 OH Xt

STratHeH2
UM HHE
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8-2. TZULH9 g M= 22te OBHE

(4210 %)

2 0 2 0 100.0 2.7 14.9 37.7 27.3 17.3
< A it e 100.0 - 15.3 44.6 29.1 10.9

s A &= g ¢ 100.0 2.4 17.4 35.0 25.1 20.0
MO/t /AE /2% 100.0 - 6.9 64.2 21.8 7.2

o = | FJLsH/282E/2EsH 100.0 2.5 12.9 45.9 33.2 5.4
M2 s/ ALY A/ 100.0 3.8 0.6 36.4 28.5 30.8

S/ 822HAMs3 =X 100.0 3.8 21.3 45.0 22.3 7.6
&0t/ 22 £ JlE 100.0 7.5 7.7 14.6 35.4 34.8

4 ol ol ot 100.0 1.1 12.5 30.5 34.4 21.5

=AM | 5 ~ 9 ol 100.0 5.9 26.3 49.2 12.7 5.9
"+ 211 0 ~ 9 9 ¢ 100.0 5.8 13.2 54.5 14.1 12.4
1 0 0 @ o & 100.0 1.3 30.8 57.7 9.0 1.3

] & = 100.0 0.5 17.5 34.2 19.4 28.3

= o = 100.0 7.9 10.3 37.6 24.1 20.1

N« oF a8 o= o3 100.0 - 21.6 52.9 18.9 6.6
ob & 3 w3 100.0 0.0 12.0 44.6 39.1 4.3

x o - 100.0 4.5 13.9 18.1 47.3 16.2

D/ - TR = < 100.0 2.2 14.2 36.0 29.8 17.8

x = | & Ab = ol 100.0 0.8 13.3 41.8 22.9 21.3
g Hi 3 A O 2 ¥ o 100.0 17.7 34.9 37.6 9.8 -
5 R = < R = 100.0 - 0.5 85.5 13.5 0.5

2 0 0 0 & o A 100.0 - 2.0 48.6 23.2 26.1

2001 ~2005 100.0 7.2 21.1 33.7 30.0 8.0

i i 2006 ~2010 4 100.0 0.1 8.4 46.5 29.8 15.3
N 2011 ~2015d 100.0 4.6 21.8 47.4 14.3 11.9
2016 ~2020 100.0 2.1 14.7 32.1 31.7 19.4

@ = A9 A 100.0 2.2 15.0 37.2 28.5 17.1

A I

5 2| = N - = 100.0 - 36.2 2.1 27.1 34.5
XAH-X &, 9dAS 100.0 6.2 9.9 48.1 20.7 15.1

* AEIUA T ASUEYINHIAS 2Rt BHANAR BIIX 401 HOV J12H0| Folgs HEUA QU(RE, I2E 5)

x QEOIB : 142 TORKIS ROIRDL SEIIAMA HAS 23S £ = XX AR 246, OEDA, 118}, GO S)

- 128 -



. o=
9-1. SAtat K EANX S ==
(G2l %)
= & 7 oo | am= 2 Zhn g
=== JIEF SAHKH
2 2 385,874 56,906 229,594 42,399 56,974
72,413 18,563 33,120 8,857 11,872
= o 57,187 17,718 14,465 16,512 8,492
F/AH 47,979 2,044 35,494 7,817 2,624
o8 = =282EH/? 39,406 785 24,043 948 13,630
AbS X &/ 43,033 1,896 33,725 2,863 4,551
2 A 3 76,861 5,926 55,420 2,867 12,649
o1t/ %2 ¥« 48,994 9,973 33,327 2,536 3,157
105,646 50,591 24,501 13,174 17,379
= AR 46,898 4,639 28,987 10,982 2,290
n 2 ~ 9 196,500 1,667 147,497 14,761 32,576
o ol 36,830 9 28,609 3,483 4,729
& 106,794 15,405 63,064 17,368 10,957
A 89,136 11,139 63,334 7,438 7,225
oo 8 = 71,344 11,926 38,824 7,172 13,423
3 67,357 9,089 40,863 5,442 11,964
Gl 51,242 9,348 23,509 4,980 13,405
Ao 161,298 56,677 55,939 28,578 20,104
x = 145,617 - 109,202 11,877 24,538
g Hi 0l = 66,407 - 56,398 1,214 8,794
o o 12,552 229 8,055 730 3,537
0 0 0 ol 89,187 7,065 65,535 4,909 11,678
~2005 71,857 4,801 47,405 4,000 15,652
i i ~ 201 40,442 6,356 25,436 3,727 4,924
- ~ 201 90,834 11,260 57,572 11,671 10,331
~2020 93,554 27,425 33,646 18,093 14,390
Ao 250,104 56,906 128,321 35,087 29,791
Ab S A
5 = Ps 24,814 - 19,570 1,621 3,623
7S] o A S 110,955 - 81,704 5,691 23,560
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9-2. ZAtAF XIRIE SALAL & &-F4H|
(E491: %)
22 =
E- 8 rgeR | M= BA L mhm
=== JIEH ZAHK}
2 0 2 100.0 14.7 59.5 11.0 14.8
[ A 0l o 100.0 25.6 45.7 12.2 16.4
s A = g o 100.0 31.0 25.3 28.9 14.8
Mol /ot /AL /2% 100.0 4.3 74.0 16.3 5.5
o Z| HBSH/B8SBH/RSH 100.0 2.0 61.0 2.4 34.6
M2/ AR A/ 100.0 4.4 78.4 6.7 10.6
D S/82 A3 X 100.0 7.7 72.1 3.7 16.5
M=ot/ 2e2 ¢ JIE 100.0 20.4 68.0 5.2 6.4
4 ol ol at 100.0 47.9 23.2 12.5 16.5
=nm%| 5 ~ 9 ol 100.0 9.9 61.8 23.4 4.9
T 2/ 1 0 ~ 9 9 o 100.0 0.8 75.1 7.5 16.6
1 0 0 o o a 100.0 0.0 77.7 9.5 12.8
ol & 2 100.0 14.4 59.1 16.3 10.3
= A =] 100.0 12.5 71.1 8.3 8.1
ool ob &4 g =m0 100.0 16.7 54.4 10.1 18.8
ob & 3 = 3 100.0 13.5 60.7 8.1 17.8
X o - 100.0 18.2 45.9 9.7 26.2
Moo A Y A 100.0 35.1 34.7 17.7 12.5
= = | 3 Ab = ol 100.0 - 75.0 8.2 16.9
g H| 3 A o o © o 100.0 - 84.9 1.8 13.2
= R TR = < 100.0 1.8 64.2 5.8 28.2
2 0 0 0 49 o ™ 100.0 7.9 73.5 5.5 13.1
2001 ~20005 4 100.0 6.7 66.0 5.6 21.8
i i 2006 ~20104 100.0 15.7 62.9 9.2 12.2
2011 ~20154 100.0 12.4 63.4 12.8 11.4
2016 ~20204 100.0 29.3 36.0 19.3 15.4
¢ = A9 A 100.0 22.8 51.3 14.0 11.9

AL

S | B4 2 B 8 100.0 - 78.9 6.5 14.6
XA - E,ddAES 100.0 - 73.6 5.1 21.2

- 130 -



9-3. W-2i=0lg8 SAtX & &

7= B =gl
= o Xt o Xt

2 0 1 8 100.0 99.7 100.0 50.5 49.5
2 0 2 0 100.0 99.5 100.0 50.8 49.2
< A il o 100.0 100.0 100.0 46.5 53.5
g A =5 # 100.0 98.5 100.0 40.2 59.8
O/t /HE/2% 100.0 99.6 100.0 84.7 15.3
¢ | HESH/B8ERE/BEs® 100.0 99.9 100.0 51.7 48.3
M2 DE/ ALY A/ 100.0 99.6 100.0 67.5 32.5
ng/8AHANEEX 100.0 99.7 100.0 24.0 76.0
l=oidt/22 2 JlEt 100.0 99.2 100.0 62.8 37.2
4 ol ol ot 100.0 99.5 100.0 45.0 55.0
=A% | 5 ~ 9 ol 100.0 99.6 100.0 52.8 47.2
=2 1 0 ~ 9 9 ¢ 100.0 99.5 100.0 53.5 46.5
1 0 0 @ o & 100.0 99.5 100.0 50.0 50.0
ol & - 100.0 98.8 100.0 51.4 48.6
= o - 100.0 99.8 100.0 56.8 43.2
oo o & 8 = 3 100.0 99.8 100.0 39.6 60.4
o & 3 w3 100.0 99.6 100.0 59.3 40.7
X Gl = 100.0 100.0 100.0 43.5 56.5
Hooe A g A 100.0 99.2 100.0 44.3 55.7
x = | & Ab = ol 100.0 99.7 100.0 64.9 35.1
g Bl o3 A o o " o 100.0 99.9 100.0 38.4 61.6
TR < N | 100.0 99.4 100.0 35.9 64.1
2 0 0 0 @ o A 100.0 99.9 100.0 67.2 32.8
2001 ~2005 4 100.0 99.8 100.0 48.3 51.7
i i 2006 ~20104 100.0 99.6 100.0 48.6 51.4
- 2011 ~20154 100.0 99.1 100.0 43.3 56.7
2016 ~20204 100.0 99.3 100.0 45.2 54.8
@ = A9 A 100.0 99.3 100.0 49.1 50.9

Ab 2R
5 = 2 A, =2 H = 100.0 99.6 100.0 60.6 39.4
XNAH-X &, 9dLS 100.0 100.0 100.0 52.4 47.6
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(2l %)

& 2l | 29M ol3t |  30cH a0t 50CH | 60CH Ol
8 100.0 11.5 16.6 24.1 29.6 8.1
0 100.0 11.1 16.1 24.7 30.5 17.5
A 100.0 9.2 14.9 24.9 33.4 17.6
8¢ A 100.0 23.7 9.5 15.6 31.0 20.3
& Il /&t g/2 = 100.0 3.2 10.4 26.7 34.8 24.4
A = /RS bt 100.0 7.6 15.3 30.3 33.4 13.4
2/ 100.0 7.5 18.3 18.5 25.7 30.1
8 = X 100.0 13.3 20.8 28.1 27.6 10.2
2 Dl Ef 100.0 9.6 22.3 28.5 28.4 11.2
St 100.0 6.1 12.1 23.9 32.1 25.8
AF X ol 100.0 22.2 17.8 21.6 24.3 141
=2 9 ol 100.0 10.3 171 26.4 32.2 14.0
0l &t 100.0 15.8 19.7 21.9 25.4 171
2 100.0 16.6 14.5 21.0 33.0 14.8
2 100.0 12.7 18.9 24.9 27.9 15.6
B iz - 100.0 6.7 15.5 25.5 32.8 19.4
# - 100.0 6.8 17.5 26.4 28.2 211
- 100.0 8.8 13.2 28.6 29.8 19.3
A A 100.0 14.2 14.9 22.3 28.2 20.4
x ol 100.0 7.6 16.1 25.7 33.6 16.9
E ¥ ol 100.0 13.0 19.9 28.8 26.7 11.7
& X 100.0 2.2 11.3 22.0 45.4 19.2
o «~ 100.0 5.5 14.2 22.2 34.9 23.1
0 = 100.0 7.1 15.5 28.6 31.4 17.4

g o«
o o ~ 2 01 = 100.0 10.0 16.6 24.4 30.8 18.2
- ~ 2 01 13.4 13.1
~ 2 17.8 16.4
A X 11.2 21.7

R
SR = 9.3 18.7
A = 11.3 7.8




10-1. HEYE SAA SE-IS ST

(2l %)

= 8 | 29l 0I5t |  30CH 40CH 50CH | 60CH Ol&t

2 0 1 8 100.0 2.9 8.5 21.9 39.8 26.9

2 0 2 0 100.0 1.5 10.3 23.8 35.4 29.0

< A il o 100.0 0.6 8.4 21.1 37.9 32.0

g A = # 100.0 3.3 10.7 23.9 33.9 28.1

O/t /HE/ 2% 100.0 - 4.7 23.4 39.0 32.9

2 | FHESH/B8ERE/BEs® 100.0 - 9.5 29.0 16.1 45.4

M2 DE/ A A/ 100.0 - 8.6 21.1 40.2 30.1

ng/8AHANEEX 100.0 - 1.9 36.8 39.7 1.6

l&soldt/22 2 JlEt 100.0 1.2 13.8 21.0 30.7 33.3

4 ol ol ot 100.0 1.6 9.3 23.9 35.1 30.1

=MK% | 5 ~ 9 ol 100.0 - 23.4 20.4 40.4 15.8

=2 1t 0 ~ 9 9 ¢ 100.0 - 4.4 30.5 30.1 34.9

1 0 0 @ o & 100.0 - - 22.2 66.7 11.1

ol & - 100.0 1.7 8.3 25.5 39.3 25.2

= A - 100.0 - 13.5 27.6 33.2 25.6

X 1 100.0 1.2 6.9 21.5 31.8 38.7

o & 3 w3 100.0 1.3 8.1 22.6 32.3 35.6

X Gl = 100.0 3.1 16.3 20.6 39.2 20.8

Hooe A g A 100.0 1.5 10.3 23.9 35.3 29.0

x = | & Ab a,* ol - - - - - -

g Hi 3 A 0 A ¥ o - - - - - -

TR < N | 100.0 - - - 59.2 40.8

2 0 0 0 @ o A 100.0 - - 2.3 28.5 69.1

2001 ~2005 4 100.0 - - 15.1 39.2 45.8

i i 2006 ~2010 4 100.0 - 3.8 14.7 49.9 31.6

- 2011 ~20154 100.0 1.3 6.1 32.3 34.3 26.0

2016 ~20204 100.0 2.5 18.0 29.5 33.6 16.5

6= A9 Al 100.0 1.5 10.3 23.8 35.4 29.0

Ab 2 R = o4 = 8 = ~ ~ ~ ~ ~ ~
2 o=

XNA-X &, 9dAS - - - - - -
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10-2. HEYE ZAIAL HHE-HEH

(2l %)

= 8 | 29l 0I5t |  30CH 40CH 50CH | 60CH Ol&t
2 0 1 8 100.0 11.3 22.1 26.2 25.2 15.3
2 0 2 0 100.0 10.3 21.4 26.0 29.0 13.3
< A il o 100.0 7.2 22.3 31.0 31.8 7.8
g A = # 100.0 22.2 16.2 9.0 36.4 16.2
O/t /HE/ 2% 100.0 3.4 1.6 28.1 33.9 22.9
2 | FHESH/B8ERE/BEs® 100.0 1.6 21.1 26.9 28.4 12.0
M2 DE/ ALY A/ 100.0 8.2 19.9 17.4 24.7 29.8
ng/8AHANEEX 100.0 14.7 26.2 27.9 24.5 6.7
l&soldt/22 2 JlEt 100.0 9.3 26.9 31.3 30.0 2.5
4 ol ol ot 100.0 8.1 21.7 28.3 28.1 13.9
=MK% | 5 ~ 9 ol 100.0 13.9 22.8 25.6 25.0 12.6
=2 1t 0 ~ 9 9 ¢ 100.0 8.6 21.2 26.5 30.9 12.8
1 0 0 @ o & 100.0 17.2 20.9 21.8 23.8 16.1
ol & - 100.0 12.5 19.9 20.7 34.0 12.9
= A - 100.0 13.3 22.6 25.4 26.1 12.6
X 1 100.0 6.7 22.5 30.0 30.7 10.1
o & 3 w3 100.0 7.8 22.4 27.8 25.0 17.0
X Gl = 100.0 6.4 18.7 32.5 27.3 15.1
Hooe A g A 100.0 14.9 26.2 25.3 22.8 10.7
x = | & Ab = ol 100.0 6.7 18.7 24.8 33.1 16.7
g Bl o3 A o o #w o 100.0 13.6 22.6 28.5 25.6 9.7
TR < N | 100.0 3.4 16.7 30.6 39.3 10.0
2 0 0 0 @ o A 100.0 6.5 18.0 22.7 35.3 17.4
2001 ~2005 4 100.0 8.7 21.1 29.3 28.8 12.2
i i 2006 ~2010 4 100.0 10.8 20.0 30.4 26.3 12.5
- 2011 ~20154 100.0 10.4 24.0 28.4 28.0 9.2
2016 ~20204 100.0 19.2 25.0 20.7 20.8 14.4
6= A9 Al 100.0 10.3 20.4 25.7 26.7 16.9

Ab 2 R
5 = 2 A, =2 H = 100.0 8.6 21.6 21.8 25.3 22.6
XNA-X &, 9dLS 100.0 10.7 22.9 27.6 33.5 5.4
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10-3. ¢EE SAIA SE-2AA-LEX
(4l %)
7 =2 8 Al | 29AI O3t |  30CH 40CH 50CH | 60CH Olat
2 0 2 100.0 39.9 7.5 15.8 22.8 13.7
= A oH o 100.0 43.4 10.0 16.4 20.5 9.6
s A = g o 100.0 56.6 3.6 9.8 23.0 7.1
Mol /ot /AL /2% 100.0 3.3 7.2 23.8 34.1 29.3
o E| HBSH/BSBH/RSH 100.0 15.5 16.3 14.0 25.7 28.5
M2 st/ AL RS/ U 100.0 15.3 14.9 14.1 30.0 25.7
D S/82 A3 X 100.0 49.4 13.2 25.1 8.0 4.2
W=odt/2e2 ¢ JIE 100.0 57.0 6.4 20.2 1.9 14.5
4 ol ol at 100.0 23.7 6.2 23.6 27.4 19.0
EY ~ 9 ol 100.0 55.5 5.1 12.0 16.4 10.9
T 2/ 1 0 ~ 9 9 o 100.0 46.7 8.1 11.8 24.1 8.2
1 0 0 o o a 100.0 22.5 16.9 15.1 19.9 25.7
9l & 2 100.0 54.1 5.9 10.5 20.7 8.8
= o =] 100.0 38.4 8.2 26.0 17.2 10.2
ool ob &4 g o o=m 3 100.0 25.6 8.5 11.4 33.5 21.0
ob & 3 o= 3 100.0 21.4 12.0 17.4 27.4 21.8
x o 2 100.0 33.2 5.2 23.4 18.1 16.5
Moo A Y A 100.0 45.1 5.2 15.8 23.4 10.5
= = | 3 Ab = ol 100.0 31.1 12.1 14.7 20.6 20.0
g H| 3 A o o © o 100.0 25.2 15.7 17.4 17.9 23.8
B o® o o A 100.0 - 6.3 32.1 42.4 19.2
2 0 0 0 49 o ™ 100.0 11.9 9.4 23.0 22.5 33.2
2001 ~2005 4 100.0 8.3 5.7 22.5 45.5 18.0
f i 2006 ~20104 100.0 35.0 18.6 7.0 18.2 21.3
B 2011 ~20154 100.0 51.4 6.1 13.3 20.3 7.5
2016 ~20204 100.0 48.0 5.9 15.8 20.4 9.9
¢ = A9 A 100.0 37.3 5.4 17.5 24.6 15.2

AL A

S | BN = B 8 100.0 36.1 18.4 10.4 18.3 6.0
XA E,ddAES 100.0 56.6 17.1 6.8 12.8 6.6
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10-4. Y SAA SE-SSIESAAL L DB SALR
(4l %)
7 =2 8 Al | 29AI O3t |  30CH 40CH 50CH | 60CH Olat
2 0 2 100.0 2.8 6.8 26.7 37.7 26.0
= A oH o 100.0 3.0 8.0 20.2 40.2 28.5
s A = g o 100.0 5.1 6.9 20.6 31.1 36.2
Mol /ot /AL /2% 100.0 2.2 8.8 19.1 46.0 23.8
o E| HBSH/BSBH/RSH 100.0 0.4 5.3 37.5 43.9 12.9
M2 st/ AL R /U 100.0 0.7 12.0 28.1 24.0 35.3
D S/82 A3 X 100.0 4.9 3.2 25.4 39.8 26.6
W=odt/2e2 ¢ JIE 100.0 0.5 13.6 29.7 24.2 31.9
4 ol ol at 100.0 3.2 11.0 17.8 32.5 35.6
EY ~ 9 ol 100.0 11.6 3.0 19.9 20.4 451
"+ 2/ 1 0 ~ 9 9 o 100.0 2.0 3.7 31.9 41.5 21.0
1 0 0 9o o & 100.0 2.3 14.7 27.0 39.3 16.7
ol & - 100.0 1.5 6.0 33.0 38.6 20.9
= & =] 100.0 0.4 6.6 15.1 45.9 32.1
oo« of & g o omo3 100.0 1.8 6.8 23.8 39.5 28.2
ob & 3 = 3 100.0 0.9 10.5 28.4 36.4 23.8
X o 2 100.0 7.8 4.3 29.1 32.0 26.8
Moo A Y A 100.0 4.3 10.1 18.5 30.1 37.0
= = | 3 Ab = ol 100.0 0.3 6.5 34.9 41.9 16.4
g H| 3 A o o © o 100.0 7.3 2.6 32.4 35.0 22.8
B o® o o A 100.0 0.2 0.6 1.8 58.8 38.6
2 0 0 0 49 o ™ 100.0 0.3 3.3 31.3 41.9 23.2
2001 ~2005 4 100.0 4.3 5.9 32.2 33.3 24.4
f i 2006 ~20104 100.0 0.3 14.3 19.2 38.6 27.6
B 2011 ~20154 100.0 - 1.7 30.0 41.7 26.6
2016 ~20204 100.0 6.0 11.7 17.2 36.0 29.1
¢ = A9 A 100.0 3.1 8.0 16.8 35.6 36.5

AL A

S | BN = B 8 100.0 0.7 8.5 49.4 38.3 3.1
AN E,ddAES 100.0 2.7 5.0 35.7 40.3 16.3
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=] S| 25 == /gl /el
8 100.0 0.8 10.9 80.6 6.2 1.5
0 100.0 0.8 10.3 83.0 5.2 0.7
o 100.0 - 6.9 85.6 6.9 0.6
o 100.0 0.8 12.7 77.8 7.2 1.6
& 0|/ 8% % 100.0 1.3 12.1 82.4 3.5 0.7
o = 2 100.0 2.5 20.4 77.0 - -
100.0 2.9 17.3 76.9 1.9 0.9
100.0 2.1 10.4 83.3 4.2 -
100.0 - 6.9 90.8 2.3 -
100.0 0.6 9.2 83.9 5.3 0.9
= AR 100.0 - 14.9 82.0 3.1 -
=2 100.0 3.1 14.2 76.5 6.2 -
100.0 3.2 27.1 67.1 2.6 -
100.0 0.3 6.8 87.8 4.8 0.3
100.0 0.4 18.0 79.2 1.3 1.1
X o 100.0 1.9 9.8 74.5 11.9 1.9
100.0 0.5 8.5 87.3 3.7 -
100.0 1.0 9.2 86.3 3.5 -
o 100.0 0.4 9.4 84.3 5.1 0.8
x = 100.0 1.6 12.0 79.5 7.0 -
g o 100.0 8.8 22.0 69.2 0.0 -
100.0 2.0 21.3 71.1 5.7 -
100.0 1.1 6.3 83.3 9.3 -
100.0 2.3 11.9 78.9 7.0 -

3 A
o o ~20 100.0 0.0 7.0 90.8 2.2 -
- ~ 201 100.0 - 13.3 79.6 6.0 1.1
~ 2 100.0 0.9 10.9 83.3 3.8 1.1
e A 100.0 0.7 9.9 83.5 5.1 0.8
2 e ;i' s 100.0 - 27.5 69.2 3.3 -
o A S 100.0 2.9 11.7 79.2 6.2 -
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00
i
=
e
Je
Z
00
=
J )

(et

I: %)

40

2 o= B ol C gl

2 0 1 8 100.0 7.3 92.7
2 0 2 0 100.0 10.3 89.7
< A it o 100.0 7.1 92.9
s A = g o 100.0 11.0 89.0
MO/t /A /2% 100.0 13.3 86.7
¢ B | HESH/ZEEE/EsH 100.0 22.9 77.1
Menst/ AL A/ Y 100.0 17.1 82.9
s/ 2 M =X 100.0 18.7 81.3
W&ot/ 22 ¥ JlE 100.0 2.3 97.7
4 ol ol ot 100.0 6.7 93.3
=M% | 5 ~ 9 ol 100.0 21.2 78.8
21 0 ~ 9 g9 o 100.0 27.7 72.3
1 0 0 9o o & 100.0 41.3 58.7
9ol e - 100.0 7.2 92.8
= & 3 100.0 16.4 83.6
of | o & @ o®m 3 100.0 8.1 91.9
1 100.0 10.9 89.1
X o = 100.0 9.9 90.1
oo A g A 100.0 7.9 92.1
= = | 3 Ab = ol 100.0 22.4 77.6
g Bl o5 A oo 2 g o 100.0 23.3 76.7
T R o 100.0 19.3 80.7
2 0 0 0 @& o A 100.0 5.5 94.5
2001 ~2005 100.0 17.0 83.0

3 A
o o | 2006~20104 100.0 9.4 90.6
- 2011 ~20154 100.0 7.7 92.3
2016 ~20204 100.0 1.7 88.3
¢ = A9 A 100.0 9.0 91.0
gi = AN, 2 & = 100.0 22.4 77.6
I T , g YA s 100.0 24.7 75.3
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14,590

7,261

4,064

3,265

20,022

10,954

4,650

4,418

R | o | x

1

e

1,719
2,619
3,382
4,482
3,636
3,807

376

598
1,445
2,623
1,342
1,878
3,060

8

1,121
1,174
700
66
474
747
368

59
3,075
1,284

4,859
2,852
10,891
1,420

2,113
2,248
5,404
1,189

2,424
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1,610
173

321
161
3,877
58

2

4,135
3,966
3,364
6,389
2,167

2,770
2,476
1,435
3,050
1,223

889
1,007
1,218

839

697

476
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6,412
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5,383
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426
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o O o o
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4,580
4,565
2,273
2,917
5,686

3,383
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3,039
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2,006
513
731
177

12-1-1.

2

2
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= AT
72
P
E
s
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2 o=

on

12,605
1,667
5,749

8,300
954
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669

325
714
3,379
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14,329

7,071
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1
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4,712
2,642
10,891
1,415

2,113
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5,404
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2,277
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1,610
173

321
161
3,877
58

2

3,846
3,898
3,364
6,384
2,167

2,628
2,409
1,435
3,045
1,223

742
1,007
1,218

839
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483
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2,466
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2,569
5,378
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3,426
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59
4,357
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(@}
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4,565
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2,917
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731
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13-1. /& Al SQotH d2cte

e
|
I
n
010
L

23, 2 | 2
= = g | 52 | ¥% | e | 5o el
oA KA NEES =
2 0 1 8 100.0 | 52.3 9.1 0.8 99| 17.3
2 0 2 0 100.0 | 55.8| 13.8 09| 13.6| 139
[ A O o 100.0 | 65.8| 10.4 0.6 6.4| 156
s A 5 g2 o 100.0 | 64.3 5.5 - 72| 206
O/t /AL /2% 100.0 | 40.1| 24.0 -| 15.7| 182
o = | HESH/BBEH/BSH 100.0 | 41.1] 30.7 25| 16.5 7.5
M2 s/ AR/ 100.0 | 38.8| 29.7 00| 187]| 108
/2 2AM3 21X 100.0 | 37.1| 21.4 6.0| 31.0 2.3
M=ot/ +2 2 JlE 100.0 | 51.5| 15.0 - 231 8.2
4 ol ol ot 100.0 | 58.1 | 13.1 06| 123| 136
E=MK | 5 ~ 9 ol 100.0 | 51.2| 15.1 28| 16.6| 138
7 21 0 ~ 9 9 ¢ 100.0 | 42.3| 18.0 15| 205| 16.8
1 0 0 @9 o & 100.0 | 40.6| 16.1 13| 29.0| 123
] & = 100.0 | 50.0| 18.6 - 18.1| 17.4
o o = 100.0 | 62.3| 13.0 21| 139 5.0
D - o 100.0 | 60.8 9.7 0.0| 13.7| 136
o a3 = R 100.0 | 46.0| 11.4 02| 139]| 26.7
Xl oH 3 100.0 | 61.5| 145 3.0| 13.4 6.5
N A" 100.0 | 58.0| 122 1.0 123| 144
=~ = | 3l Ab = ol 100.0 | 44.9| 20.9 06| 17.7| 146
g H 3 A 0 2 g o 100.0 | 47.7| 205 1.3] 26.0 4.4
HI = of e 100.0 | 43.4| 286 - 214 6.6
2 0 0 0 ¢ o A 100.0 | 44.2| 14.8 11| 23.7| 139
2001 ~2005 ¢ 100.0 | 50.2| 23.6 3.0| 11.4| 11.7
i i 2006 ~2010 ¢ 100.0 | 49.0| 16.7 -| 16.0| 149
- 2011 ~2015 100.0 | 584 | 11.9 12| 137| 126
2016 ~2020 4 100.0 | 61.7] 11.3 05| 10.0| 148
¢ = A2 A 100.0 | 56.8| 13.4 09| 13.1] 138

Abed |
5 2| BN = ®H = 100.0 | 29.1| 40.3 0.1 186 8.8
N AH-X & ,9 84S 100.0 | 49.6| 13.0 16| 184 16.9
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13-2. 2IEXHE Al S0t RelI-5+ SH
2l %)
= M _ 2 S of st
= HAL iy e xi?% Sie - JIEH
ol =
2 1 8 70.9 17.3 2.0 16.7 45.1 1.1 10.9
2 2 0 79.5 28.0 2.5 23.3 58.2 1.1 2.3
O o 87.8 25.0 1.2 11.6 62.9 1.2 1.1
= o 86.5 14.2 - 10.3 81.0 1.6 3.2
>/HHA % 67.6 36.2 1.3 33.5 53.0 0.6 2.9
g = 2828 & 63.5 55.5 3.4 34.6 37.2 0.9 2.4
RN 68.7 46.1 1.9 32.7 441 - 1.9
21 Al 63.5 42.8 16.8 52.0 21.6 2.2 1.1
/%2l 75.7 30.3 0.0 38.1 47.7 - 3.6
0l 81.6 25.0 2.0 21.4 61.0 0.6 2.3
= ALK 9 75.0 36.2 5.4 26.4 51.6 1.7 3.5
2 ~ 9 67.2 44.0 3.6 36.1 42.7 5.0 0.4
ol 72.9 35.5 3.2 43.9 41.9 1.3 1.3
& 78.1 35.9 2.2 22.7 57.8 2.2 1.0
o 82.5 26.3 3.9 24.7 49.8 0.2 3.9
X o 8 = 85.0 21.2 0.0 21.5 59.4 - 4.2
3| 76.4 24.7 2.2 22.8 64.6 2.5 0.3
ot 74.2 29.0 5.0 25.8 61.4 0.3 2.0
A 80.9 25.0 2.4 21.3 60.9 1.3 2.5
x = = 73.7 411 2.9 27.4 50.1 0.4 1.8
g H o e ¢ 71.6 46.7 1.4 51.8 28.4 - 0.0
ol 67.4 47.2 6.3 42.3 36.7 - -
T 72.9 34.9 1.9 35.0 46.0 0.0 4.1
0 ~ 2005 72.5 32.6 6.5 28.9 54.1 1.2 0.5
i i 0 ~ 2010 78.5 31.5 2.8 22.2 52.7 0.7 4.6
- 0 ~ 2015 76.8 28.3 1.7 22.2 57.9 2.2 3.1
0 ~ 2020 84.7 23.7 2.1 19.1 64.7 1.1 1.1
s M 9 79.9 26.5 2.4 22.5 59.6 1.2 2.4
Abed |
5 = = 63.3 59.2 0.2 33.4 34.5 0.1 3.2
H,9 8258 77.6 417 4.2 31.8 44.2 - 0.5
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14-1. QI E Al HdSol= B8 s&E

(&2 %)
1 1~34d | 3~54 | 5~10& | 104 2
T = & olgt olgt olgt olgt olah | aEes
2 0 1 8 100.0 5.3 21.9 13.1 2.7 1.6 55.4
2 0 2 0 100.0 3.9 22.5 13.0 3.6 0.5 56.4
< A O o 100.0 5.3 21.4 1.5 2.3 - 59.4
g A = g 100.0 4.0 17.4 3.2 3.2 0.8 71.5
O /Bt AL/ 2% 100.0 0.7 24.9 15.6 10.6 0.8 47.4
¢ | HESU/E8EE/RSH 100.0 3.1 31.6 24.0 0.9 1.7 38.7
e Ws/ ALY/ Y 100.0 3.0 26.9 23.3 5.8 1.8 39.2
g/ 2AANE =X 100.0 0.0 36.3 27.3 7.6 1.1 27.6
=0t/ %2 % JlE 100.0 5.8 18.7 15.3 1.2 - 59.1
4 ol ol ot 100.0 3.7 20.5 1.5 3.4 0.4 60.4
=ML | 5 ~ 9 ol 100.0 7.8 30.0 20.8 4.7 2.4 34.3
o= 1 0 ~ 9 9 o 100.0 1.3 30.4 15.9 4.0 - 48.4
1 0 0 @ o & 100.0 1.9 25.8 27.1 3.9 - 41.3
9ol & - 100.0 4.2 18.1 10.0 4.6 0.2 62.9
= A - 100.0 2.4 23.4 19.4 6.1 1.9 46.7
X o oh a8 o= 3 100.0 4.5 15.5 8.7 2.6 0.2 68.4
1P - - 100.0 4.7 38.4 16.1 2.2 0.2 38.3
X Gl = 100.0 3.7 21.5 12.0 1.4 0.3 61.0
N A g A 100.0 4.4 21.2 1.7 3.1 0.5 59.1
x = | 3 Ab = ol 100.0 2.0 28.6 17.7 8.2 1.0 42.5
g Bl o5 A 0o o oE oo 100.0 0.1 32.3 24.6 1.3 1.6 40.1
R R < T = 100.0 - 24.0 18.6 2.4 - 55.0
2 0 0 0 & o A 100.0 2.7 22.0 14.5 5.4 0.3 55.0
2001 ~20054 100.0 0.6 26.5 21.6 2.5 - 48.9
i i 2006 ~2010 100.0 2.1 21.0 18.7 6.4 - 51.7
- 2011 ~20154 100.0 4.2 21.0 12.4 2.2 0.5 59.7
2016 ~20204 100.0 5.4 22.8 9.2 3.2 0.9 58.4
6= A2 Al 100.0 4.0 21.9 12.6 3.2 0.5 57.8
AR

S = 2 A, =2 & =S 100.0 3.1 47.3 23.2 8.8 - 17.6
A X H,dd A4S 100.0 2.3 24.5 16.4 8.8 1.3 46.8
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14-2. QI E Al HdSol= stg &

(2l %)
N St 5+2) Sted
TE 2| e ol ;gga,*EH Eiaggm mgﬁ; é,rﬂzrg;%
2 0 1 8 100.0 4.5 12.7 8.4 0.7 73.8
2 0 2 0 100.0 5.2 12.7 9.8 0.3 72.1
< A O o 100.0 6.9 11.0 6.9 - 75.1
s A x5 g o 100.0 3.2 4.0 0.8 - 92.1
OBt/ AL/ 2% 100.0 9.9 1.3 9.8 - 69.1
¢ | ZESU/E8EE/RSH 100.0 4.9 15.1 29.9 0.8 49.4
M WE /ALY /Y 100.0 8.7 20.4 15.7 4.2 51.0
s /2 2AAMSE =X 100.0 3.2 40.4 38.2 - 18.2
=0t/ %2 2 JlE 100.0 3.5 9.3 3.6 - 83.6
4 ol ol ot 100.0 5.0 10.7 8.7 - 75.6
=M | 5 ~ 9 ol 100.0 7.6 18.2 14.7 1.3 58.2
= 1t 0 ~ 9 9 o 100.0 4.0 22.9 13.2 1.2 58.6
1 0 0 @ o & 100.0 2.6 18.7 25.2 1.9 51.6
9| & - 100.0 2.2 12.9 6.3 0.2 78.3
= o - 100.0 2.8 13.5 18.1 0.6 65.0
X o O 100.0 7.1 9.1 7.3 0.2 76.3
o & & & 2 100.0 7.6 15.1 9.1 0.3 67.9
X Gl = 100.0 8.6 13.5 8.9 - 69.0
N A g A 100.0 4.8 12,5 7.8 - 75.0
x = | 3 At = ol 100.0 8.0 10.7 18.2 1.3 61.8
g Bl o5 A 0o o o® oo 100.0 3.4 26.1 29.3 2.0 39.2
R B < T = | 100.0 8.3 15.1 13.4 1.8 61.4
2 0 0 0 & o A 100.0 5.4 17.6 12.0 0.7 64.4
2001 ~20054 100.0 6.6 24.2 16.0 0.6 52.6
i i 2006 ~2010 100.0 7.0 15.3 8.5 - 69.2
- 2011 ~20154 100.0 6.0 12.4 6.2 - 75.3
2016 ~20204 100.0 3.9 7.9 9.5 0.2 78.4
6= A2 Al 100.0 5.3 12.7 8.5 0.1 73.4
A H|

S = 2 A, =2 & =S 100.0 1.9 17.7 41.7 3.6 25.1
N A-XE, g s 100.0 1.8 12.4 20.0 1.6 64.1
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r
40

A2, e,
7 =2 SIAF REMIZD | TV, OIHY S =8 ol stmLt stel
OH &

2 0 2 0 8.2 24.0 55.5 3.0
= A O o 5.2 28.5 62.2 -
s A = g o 4.6 21.2 63.1 -
MOt/ AL /2 10.2 19.3 42.6 2.3
o = | HEsSHM/BESBH/EsH 36.7 21.4 28.5 4.2
M2/ ALY KR/ 9.9 25.3 47.3 5.3
D s/2 2 M3 X 1.2 28.4 34.9 15.7
M=ot/ 22 < Il 8.0 19.2 61.3 3.9
4 ol ol at 3.5 20.2 62.9 1.9
=M | 5 ~ 9 ol 12.3 45.3 30.8 8.0
T 2| 1 0o ~ 9 9 ¢ 38.9 29.1 26.7 5.9
10 0 9o o & 49.7 37.4 29.7 10.3
9l & 2 9.7 30.4 52.7 25
o & = 8.9 19.5 47.8 3.9
ool o & o8 o omoo3 5.9 22.2 64.5 3.8
o & & 2 3 11.0 15.8 54.6 2.6
zl o - 4.1 28.5 61.9 2.6
Moo A Al 3.9 22.3 61.9 2.6
= = | & Ab = ol 22.0 35.3 27.3 3.3
g B 3 A o 9 g o 50.8 22.5 25.8 9.9
T T | 27.4 24.7 25.2 5.4
2 0 0 0 9 o & 13.4 1.1 58.6 2.7
2001 ~2005 14.5 25.6 50.2 3.8
ii 2006 ~2010 ¢ 9.2 27.5 51.9 1.1
2011 ~2015 ¢ 9.2 29.5 56.2 4.9
2016 ~2020 4 4.2 24.8 56.4 2.6
¢ = Ao Al 5.1 22.5 59.1 2.8

AbE R
i 26.4 26.6 29.1 9.9
XA H, o9 AS 42.6 42 1 17.1 3.3
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0

U = =2.2g At
T = o X} 2| M E Rt A A QI ANA JIE

2 0 2 0 26.3 1.4 3.3 1.7
= A O o 22.8 1.2 3.2 3.7
s A = g o 19.4 0.9 2.8 0.9
MO/t /AE /2 47.5 0.8 7.4 1.5
o = | FEsSHM/BSBH/EsH 38.8 1.8 0.9 0.9
M2/ ALY KR/ 38.5 2.9 1.2 1.2
D s/2 2 M3 =X 47.3 4.4 2.2 1.1
M=ot/ 22 ¢ Il 1.7 - 5.1 -
4 ol ol ot 20.7 1.1 3.5 1.9
= ALK 5 ~ 9 el 40.5 1.9 1.9 -
T 2| 1 0o ~ 9 9 ¢ 51.8 2 3.5 2.1
10 0 9o o & 62.6 5.8 4.5 2.6
9l & - 23.3 1.6 2.9 -
o & = 41.2 1.8 2.2 5.6
ool o & 8 omo3 23.6 0.7 3.4 1.2
I I - 23.7 1.9 6.9 1.3
& o - 19.4 0.7 1.4 1.1
Moo A ™Al 20.2 1.5 3.6 1.8
= = | & Ab = ol 52.2 0.8 3.1 0.8
g B 5 A o o oy o 63.5 0.1 0.0 3.7
T T = | 43.7 5.4 - 0.2
2 0 0 0 4 o & 26.0 2.2 1.6 2.8
2001 ~2005 30.9 1.8 2.8 1.1
ii 2006 ~2010 ¢ 27.7 0.9 3.2 1.5
2011 ~2015 ¢ 23.8 0.3 5.1 2.9
2016 ~2020 4 25.9 1.7 3.3 1.0
¢ = A 2 Al 23.6 1.4 3.7 1.8

AL R
B T 61.9 2.6 0.2 0.1
XA H, o9 AS 51.7 0.7 - 0.5
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15-2. AI- 22X olgayE F2-543H

9l %)
A2, e,
7 =2 SIAF XM 2D | TV, EHY S =8 ol stmLt stel
OH &
2 0 2 0 6.5 23.2 59.9 2.0
= A O o 4.5 24.8 66.4 -
s A = g o 4.1 25.4 64.0 -
MOt/ AL /2 5.7 19.8 51.9 1.8
o = | HEsSHM/BESBH/EsH 31.0 18.9 415 2.0
M2/ ALY KR/ 6.5 23.1 50.7 3.4
D s/2 2 M3 X 11.6 23.3 35.3 8.4
M=ot/ 22 < Il 5.4 18.3 66.1 5.2
4 ol ol at 3.3 20.5 65.5 1.6
=M | 5 ~ 9 ol 10.0 42.6 36.0 6.8
T 2| 1 0o ~ 9 9 ¢ 30.7 25.8 35.6 0.4
1 0 0 o o & 40.6 37.6 30.1 5.3
9l & 2 7.7 29.5 54.7 2.0
o & = 5.4 16.2 56.0 2.3
ool o & o8 o omoo3 4.4 18.1 73.0 0.9
o & & 2 3 7.6 17.2 60.5 3.6
zl o - 6.8 30.6 56.1 1.5
Moo A Al 3.3 22.2 64.6 2.0
= = | & Ab = ol 16.8 33.8 40.9 1.8
g B 3 A o 9 g o 46.9 9.8 22.5 0.2
T T | 27.7 18.1 16.8 6.5
2 0 0 0 9 o & 10.4 9.8 65.0 1.6
2001 ~2005 9.4 24.7 55.5 0.6
ii 2006 ~2010 ¢ 6.6 24.4 51.5 0.9
2011 ~2015 ¢ 8.2 28.9 60.6 2.4
2016 ~2020 4 3.8 24.2 60.9 2.5
¢ = Ao Al 4.6 21.9 62.3 2.1
AbE R

i 29.1 31.1 39.7 4.4
XA H, o9 AS 28.8 38.9 28.8 0.6
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=
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0

U = =2.2g At
T = o X 2] dIE QAT A AT A JIE
2 0 2 0 23.6 0.8 3.5 1.7
= A 0i o 20.4 1.2 3.2 3.7
s A = g o 18.0 - 3.3 0.8
MO/t /AE /2 38.5 0.0 9.9 1.6
o = | FEsSHM/BSBH/EsH 34.9 2.0 1.0 0.9
M2/ ALY KR/ 32.2 2.3 3.8 1.3
D s/2 2 M3 =X 47.3 2.4 3.6 1.2
M=ot/ 22 ¢ Il 12.9 - 2.6 -
4 ol ol ot 19.7 0.6 3.0 1.8
= ALK 5 ~ 9 el 31.1 0.6 4.9 -
T 2| 1 0o ~ 9 9 ¢ 49.5 3.1 6.5 2.4
10 0 9o o & 54.9 6.0 6.0 1.5
9l & = 22.6 1.6 3.1 -
o & = 31.0 0.0 3.2 6.9
ool o & 8 omo3 15.2 - 3.7 0.9
o & & 2 3 21.8 1.2 6.4 1.3
zl o - 30.0 0.7 1.4 1.1
Moo A ™Al 19.3 0.9 3.5 1.8
= = | & Ab = ol 43.9 0.4 4.0 0.9
g B 5 A o o oy o 56.7 0.2 1.5 4.5
= R < T = S 43.8 - 7.2 -
2 0 0 0 9 o & 22.9 1.2 2.4 3.0
2001 ~2005 26.4 1.9 3.0 1.2
ii 2006 ~2010 ¢ 31.5 0.6 1.0 1.8
2011 ~2015 ¢ 21.6 0.3 3.3 2.7
2016 ~2020 221 0.8 4.7 1.0
¢ = A 2 Al 21.7 0.8 3.7 1.8
AL R
B T 50.0 3.3 3.8 0.1
XA H, o9 AS 44.0 0.0 0.6 0.6
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16—1. QI EEI} 0SS AIS-

2l %)
ol =
2 =1
- = IOE|HEE} 2:*& 25
s gis
2 0 2 0 100.0 48.1 11.8 5.2
= A e 100.0 49.6 7.7 2.9
s A = e 100.0 55.5 3.1 7.1
MOl E A/ % 100.0 46.8 9.2 7.5
o =| B”REMN/2S88 & 100.0 38.4 23.0 3.3
28/ ALY 100.0 38.4 30.0 1.9
s /8 A 100.0 38.9 24.9 10.4
Ol = o O/ = 100.0 45.3 17.4 3.6
4 ol 100.0 50.5 9.3 4.9
=A% | 5 ~ 100.0 46.4 14.9 7.1
T 21 1 0 ~ 100.0 30.2 28.9 6.2
1 0 o0 o 100.0 38.1 28.4 5.2
ol & 100.0 58.6 12.6 4.6
= A 100.0 35.8 13.9 6.4
Ao« ob & 3 o= 100.0 53.3 7.7 6.6
o & 3 100.0 32.4 12.1 4.3
x o 100.0 55.7 12.6 4.0
Moo A 100.0 50.0 9.2 4.9
= = | 3 Ab 100.0 411 27.8 5.2
g H | 3 A 0 100.0 38.3 15.8 6.2
TR = o] 100.0 25.5 18.0 20.1
2 0 0 0 100.0 43.9 16.7 5.2
2001 ~ 2 100.0 53.3 15.9 4.2
i i 2006 ~20 100.0 47 .4 12.4 5.2
N 2011 ~20 100.0 43.7 12.3 5.1
2016 ~20 100.0 50.4 8.9 5.6
¢ = A 100.0 49.0 10.1 5.5
AR o

e 100.0 56.6 19.7 3.3
X AH- X E, 4SS 100.0 34.2 32.6 2.5
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16-1. QIA&EEI} 02 AIR-F& 2 (AX)

=

[1 %)

40

A Xt Fol/REHE

= T o= JIEt o2 s
2 0 1 8 12.9 2.8 19.3 -
2 0 2 0 13.0 4.3 0.8 16.8
< A O o 10.9 9.3 0.6 19.1
g A &5 % o 16.7 1.6 0.8 15.1
MO/t /AL /2% 21.7 3.6 0.7 10.6
8 =| HESH/BESEE/REsd 6.6 4.1 - 24.5
Hens /AENA/ L 10.7 2.0 0.9 16.2
s /82HAF 2 5.1 3.0 1.0 16.7
=0t/ 22 % JlE 15.0 1.2 1.2 16.4
ol ol ot 13.6 4.0 0.8 16.9
= AMA 5 ~ 9 el 9.5 5.5 - 16.6
2 1 0 ~ 9 9 ¢ 12.1 5.0 1.2 16.4
1 0 0 9o o & 9.0 2.6 - 16.8
9| & = 1.6 5.2 0.2 7.2
= A 2 9.2 10.6 1.7 22.4
N oor & 8 mooR 13.6 2.4 1.3 15.2
] A 25.3 1.1 - 24.9
x Gl - 6.7 0.2 0.7 20.2
Hoooer A Y A 13.5 4.5 0.8 17.2
=~ = | 3 At = ol 1.6 2.1 - 12.3
g B 3 A o o #w o 9.1 1.5 3.6 25.5
] N < TR = 7.7 10.9 - 17.8
2 0 0 0 & o & 14.9 3.0 - 16.3
2001 ~2005 4 1.4 3.7 1.5 10.0

¥ A
o | 2006~20104d 16.6 7.0 - 1.4
- 2011 ~20154 11.0 3.4 2.9 21.6
2016 ~2020 4 12.6 4.5 0.1 17.9
@ = A2 A 13.4 4.5 0.7 16.8

Abed |
5 = 2 N, 2 B S 8.2 2.5 - 9.8
NA-X &, 9 2SS 8.6 1.7 1.6 18.9
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16-2. IFAEEI} 2 MRS+ SE

(=9 %)

AZ U | RFTIE=
o0 | (&2, mtéi' TAMWE - TeY CEE
= TAXS | FRE)g | S, [Jlmlsks | P Il E e

s s
2 0 2 0 64.7 22.7 16.8 26.7 16.0 1.9 16.8
[ A 0 o 66.4 14.7 16.8 24.7 17.3 1.8 19.1
g A =& % 68.2 1.8 21.4 34.9 15.1 1.6 15.1
OBt/ AL/ 2% 60.9 24.6 20.6 43.3 12.6 0.7 10.6
o | FEsU/282E/RESH 56.7 40.5 1.9 1.5 19.6 0.9 24.5
M WE /A 62.9 47.5 3.1 23.1 12.7 1.9 16.2
g/ 2AANE =X 62.2 42.9 18.9 9.6 14.9 5.0 16.7
=0t/ %2 2 JlE 61.5 29.0 1.7 26.5 17.3 1.2 16.4
4 ol ol ot 66.2 19.1 16.5 28.6 16.5 1.3 16.9
=AM | 5 ~ 9 ol 66.0 30.2 18.8 18.7 13.8 4.0 16.6
# 2/ 1 0 ~ 9 9 ¢ 50.2 441 17.2 20.4 14.7 4.3 16.4
1 0 0 @ o & 58.1 45.2 12.3 20.0 14.2 1.3 16.8
] & = 76.0 26.1 17.2 24.9 22.8 0.6 7.2
A & = 50.2 25.9 13.6 20.0 20.8 2.4 22.4
X o O 71.6 19.1 21.5 22.9 10.2 3.6 15.2
o & 3 & 2 50.9 19.4 13.5 39.2 7.9 0.3 24.9
& ol = 69.4 20.9 17.6 30.6 14.0 2.8 20.2
N A g A 65.6 19.2 16.6 27.5 16.6 1.7 17.2
x = | 3 Ab = ol 62.8 43.9 17.2 26.4 12.1 2.0 12.3
g H 3 AF O 2 " o 54.4 38.7 1.1 18.9 12.7 3.7 25.5
He g o = A 51.6 18.0 34.0 7.8 18.6 5.2 17.8
2 0 0 0 ¥ o A 62.8 33.2 12.4 25.1 11.6 1.4 16.3
2001 ~20054 65.1 27.7 23.4 28.5 19.3 3.1 10.0
f f 2006 ~20104 74.4 21.7 12.9 29.7 17.0 0.0 1.4
I 011 ~2015 59.8 24.4 19.4 19.6 16.3 4.9 21.6
2016 ~20204 64.7 17.7 16.6 29.2 16.3 1.0 17.9
6= A A 65.0 20.3 17.4 27.4 16.3 1.7 16.8
ig;ﬂ 2 A, =2 & = 69.4 54.0 26.2 13.5 13.3 0.1 9.8
NA-XE,d8 A4S 59.2 47.8 7.3 20.6 12.8 4.3 18.9
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17. QIHAEE Al JI&E X0 R (A=)
S %)
EANS | FTAHAHUX A& =1
= Al # FHl X 3=

2 1 8 7.0 4.9 4.0 23.3
2 2 0 7.9 11.3 11.8 6.3
A O o 8.1 10.3 15.5 6.3
= g o 3.2 15.9 13.5 5.5
St/ AHH/2% 10.5 9.2 5.0 2.1
oy = M/2erE /RS 9.9 9.3 7.3 8.1
sH/ALS R 2/ TH 15.9 9.4 3.1 4.6
s /2 A M3 Xl 7.4 5.4 6.3 6.1
00t/ %2 & = 1.5 11.6 12.8 9.3
ol ol ot 7.7 12.9 13.4 6.4
= AXH ~ 9 el 6.2 6.1 7.9 7.3
= ~ 9 9 ¢ 11.0 4.0 3.8 3.9
0 o o & 5.2 8.4 7.7 5.8
& - 9.3 1.8 10.3 0.3
. - 4.8 4.8 1.9 17.6
X o g = 3 8.4 12.6 25.0 5.7
3 o8 2 1.3 23.5 10.4 3.8
Gl = 5.1 4.6 1.9 5.2
A Al 7.3 12.4 12.5 6.9
x = Ab s ol 12.4 7.0 7.7 1.9
g H o o g o 2.4 6.9 5.1 6.1
o e A 14.8 - 20.1 7.0
0 0 @ o A 9.0 12.5 13.8 2.6
001 ~2005 7.0 10.3 12.9 5.0

¥ &
o o 006 ~2 01 | 8.1 15.7 10.0 4.5
- 011 ~201 | 8.3 10.0 18.2 7.9
016 ~2020 ¢ 7.5 10.6 8.7 7.5
A A 7.7 11.8 12.3 6.5

INR=B]
S = , 2 & s 2.3 13.0 0.5 0.1
N A-XE, g as 1.4 4.7 8.5 4.6
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18. Al&ot2

As 2REAHE-=4

=)
(&2 %)
= ZAMEDL %ﬁgi% sty Xl él%l%%‘?

2 0 1 8 8.2 1.7 3.1 1.6
2 0 2 0 10.0 3.7 4.4 1.0
[ A O o 4.3 2.4 3.5 1.2
= Al = Bt e 1.6 - 2.4 -
O /Bt AL/ 2% 14.6 4.3 8.4 2.7
¢ | HESU/E8EE/RSH 415 20.5 23.5 7.3
HMEWE /AR 20.0 5.4 9.4 2.1
g/ 2AANE =X 32.2 12.2 2.3 0.1
=0t/ %2 % JlE 6.1 1.3 2.5 -
4 ol ol ot 3.8 1.2 1.5 0.1
=AM | 5 ~ 9 ol 20.0 9.9 8.4 3.1
= 1 0 ~ 9 9 o 49.6 171 23.4 5.9
1 0 0 @ o & 74.2 40.6 34.2 10.3
9ol & - 11.2 3.7 6.3 1.3
= . - 11.3 4.5 5.3 0.8
X o o & 83 oz 3 6.5 3.7 2.9 1.8
1P T -] 13.1 3.5 4.6 0.7
&l Gl = 7.4 3.0 1.9 0.0
Hoooer A g A 3.6 1.1 1.5 0.0
x = | 3 Ab s ol 35.8 11.1 20.3 6.6
g Bl o5 A 0 o o oo 65.8 28.6 22.3 3.9
H T | 36.6 32.2 4.4 2.3
2 0 0 0 ¥ o A 20.5 7.3 9.4 2.2
2001 ~2005 19.4 9.1 4.6 1.0

¥ &
o | 2006~20104 11.1 4.1 5.5 1.0
- 2011 ~20154 10.8 3.8 4.4 1.3
2016 ~20204 3.7 1.2 2.5 0.4
6= A2 Al 6.1 1.9 2.0 0.1

A H|
S = 2 AN, 2 =H s 26.0 6.3 13.5 6.8
N AN-XE, g ars 57.0 26.9 34.2 10.9
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18. AI&GID Y= 2REXNNE-22 2 (HD)

L e BCETT =2
= 1 QE,Z s) | PEaLAT HA X
2 0 1 8 9.0 12.6 1.3
2 0 2 0 21.4 12.6 24.8
< A it o 21.0 14.0 23.2
s A x5 % o 18.3 5.6 22.2
MOl /ety / AL/ 2% 20.5 27.2 38.1
o Z| FESH/Z8EH/EsSH 35.6 38.3 32.2
M2t/ AR 2/ 31.7 14.3 25.7
g/ 2HAMNE =X 18.4 13.5 24.5
Ml=oidt/2 2 JlE 22.4 7.3 24.6
4 ol ol ot 18.6 8.6 23.5
=M | 5 ~ 9 ol 23.3 20.7 26.6
= 1 0 ~ 9 9 o 42.5 35.9 33.5
1 0 0 9o o & 25.2 53.5 35.5
9l & - 41.5 22.1 32.9
= o = 24.1 14.2 15.4
N9 ob & g o=z 3 4.5 6.9 11.1
] S 10.7 9.6 23.4
& Gl =] 15.9 4.2 42.6
Moo A" A 19.4 7.9 23.5
x = | s Ab = ol 34.6 31.9 32.5
g H 3 A 0 A ¥ o 31.0 47.3 31.5
5= B o = 9.2 40.8 21.9
2 0 0 0 ¥ o A 22.8 19.0 26.0
2001 ~20054 13.3 19.1 25.3
3 o
o | 2006~20104 28.7 15.4 22.6
- 2011 ~20154 23.6 12.8 20.4
2016 ~20204 19.8 8.1 26.8
¢ o= A4 9 Al 19.7 10.1 24.0
NR=D<]
5 2| = A, 2 08 S 25.5 30.4 34.6
XN A-XE,9 A4S 42.4 40.7 33.6
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on

20194
53 ‘:‘.E’% 58 ~14 1~5< 5~10< 104
&l olgt ol et olgt Ol &t
100.0 37.4 18.2 28.4 6.0 9.9
100.0 29.4 20.1 34.6 7.0 9.0
100.0 42.9 24.7 23.8 3.1 5.5
100.0 17.5 15.4 26.9 10.5 29.7
100.0 15.4 10.3 36.2 7.3 30.8
100.0 27.9 11.2 37.9 7.2 15.8
100.0 36.5 7.8 36.3 11.9 7.5
100.0 62.4 16.1 141 2.4 5.0
100.0 44.3 22.3 27.7 3.3 2.3
100.0 15.7 1.4 44.8 18.5 19.6
100.0 5.2 2.6 15.6 14.7 61.9
100.0 2.6 - 5.8 3.9 87.7
100.0 33.3 15.8 29.6 8.5 12.9
100.0 36.4 14.7 30.0 8.1 10.9
100.0 39.2 26.8 26.5 2.3 5.1
100.0 37.7 22.3 24.3 5.1 10.6
100.0 43.7 11.2 31.0 4.9 9.2
100.0 42.9 20.8 27.7 4.6 4.0
100.0 7.8 5.4 30.9 14.0 41.9
100.0 13.3 1.5 20.7 18.5 46.0
100.0 23.3 10.7 57.3 0.1 8.6
100.0 271 22.3 28.0 6.8 15.7
100.0 22.2 14.0 29.8 11.8 22.2
100.0 25.1 22.0 39.2 4.0 9.7
100.0 35.0 14.7 27.8 7.7 14.8
100.0 48.7 18.3 25.5 4.3 3.2
100.0 40.2 19.5 28.7 5.2 6.3
100.0 3.1 3.3 33.7 22.5 37.3
100.0 8.6 3.9 22.8 12.7 52.0
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19. Y NIEE (HH)
(E491: %)
20204
= - 580tel | 5E~19 | 1~59 | 5~10% 102
= 0l ot 0/t oot 0/t 0l &t

OH = oK 100.0 38.0 17.9 28.6 6.2 9.2
[ A O o 100.0 29.2 18.9 34.2 8.7 9.0
s A = 8 100.0 42.9 24.7 26.1 2.4 3.9
O/t /AHE/2 % 100.0 18.9 14.8 24.7 13.3 28.2
o =| HBEN/ZSERH/BESH 100.0 14.6 8.5 38.9 7.2 30.8
M2/ AKX R/ 100.0 30.6 11.0 36.5 6.1 15.8
D S/2AHAMNSIEX 100.0 33.4 9.9 39.3 9.8 7.5
Ml=0dh/42 2 JIE 100.0 67.0 16.1 10.6 2.4 3.8
4 ol 0l 5t 100.0 46.7 22.1 24.9 4.3 2.0
=AK | 5 ~ 9 ol 100.0 6.9 1.9 56.5 18.0 16.7
w2 1 0 ~ 9 9 o 100.0 1.2 1.5 28.6 8.8 59.9
1 0 0 9o o & 100.0 0.6 - 5.8 3.2 90.3
o 2 -] 100.0 36.1 13.5 32.2 7.7 10.4
= & 2 100.0 34.3 18.2 30.6 6.6 10.3
X o 1] S| 100.0 40.7 24.6 24.6 5.0 5.1
oF & 3w 2 100.0 40.9 19.5 21.3 6.4 12.0
&l ah 2 100.0 39.7 14.7 32.7 4.6 8.4
b/ I < TR S = R | 100.0 44.4 20.2 26.9 5.0 3.5
x = | 3 Ab = ol 100.0 4.7 6.4 36.0 11.6 41.3
g B 5 A 0o 2 @ o 100.0 7.2 1.5 28.8 22.8 39.7
TR R TR = S <] 100.0 20.0 16.6 54.8 - 8.6
2 0 0 0 @ o o 100.0 39.6 12.1 24.4 9.2 14.8
2001 ~2005 4 100.0 24.8 16.6 27.3 10.3 20.9

=t /g
o o | 20068~20104 100.0 36.9 15.2 33.7 6.3 8.0
2011 ~20154 100.0 35.9 17.3 27.5 6.6 12.5
2016 ~20204 100.0 41.8 21.1 29.4 4.1 3.6
¢ o= A2 F 100.0 41.3 18.9 28.4 5.4 6.0

Ab e Rl
S o £ N, =2 ® s 100.0 3.1 7.9 28.3 23.3 37.3
XN A-X B, 98 AS 100.0 2.9 6.8 31.3 14.0 45.0
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20-1.

H0

02
=
oy
of¥

0z

i

gl

ML

0l
0

ot

=
(Sl %)
2= B Az NEH=S 24l
L S5

2 0 1 8 100.0 32.8 7.5 30.1
2 0 2 0 100.0 34.3 8.9 28.4
< A O o 100.0 32.9 2.9 21.1
g A = g2 100.0 37.4 7.9 22.9
OBt/ AL/ 2% 100.0 16.9 1.6 51.9
¢ | HESU/E8EE/RSH 100.0 15.7 10.1 54.8
e Ws/ ALY/ Y 100.0 15.0 9.2 59.8
g/ 2AANE =X 100.0 30.3 12.1 46.2
=0t/ %2 % JlE 100.0 53.4 18.5 11.9
4 ol ol ot 100.0 38.6 9.7 19.7
=AML | 5 ~ 9 ol 100.0 17.8 2.9 64.1
= 1t 0 ~ 9 9 o 100.0 17.2 9.0 59.9
1 0 0 @ o & 100.0 5.8 8.4 76.1
9| & - 100.0 28.9 12.6 29.2
= S - 100.0 30.5 6.7 39.1
X o O 100.0 40.0 7.1 25.4
I[P T - 100.0 43.0 3.1 21.0
X Gl = 100.0 31.8 13.8 24.9
N A g A 100.0 37.9 9.1 22.2
x = | 3 Ab = ol 100.0 19.2 6.1 56.2
g Bl o5 A 0 o o® o 100.0 1.6 7.9 72.2
I B < TR = 100.0 22.8 19.6 53.8
2 0 0 0 & o A 100.0 20.4 11.6 33.7
2001 ~20054 100.0 19.9 10.6 37.7

¥ &
o | 2006~20104 100.0 35.1 10.5 35.3
- 2011 ~20154 100.0 37.3 8.3 28.0
2016 ~20204 100.0 40.5 7.5 22.9
6= A2 Al 100.0 36.0 9.2 25.6

=D
S = 2 A, =2 & =S 100.0 10.7 9.0 61.2
A X H,dd A4S 100.0 16.1 4.9 58.6
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20-1. IX2 = IIE RE0| 2 22-F& 8¢ (AHH)
(&=l
= 22 T SBuls = Il EF
(01Xt S)
2 0 1 8 13.5 4.4 8.7
2 0 2 0 18.2 4.2 5.4
< A OH o 35.1 1.7 6.3
s A &5 g o 19.1 6.4 5.6
MO/t /HE /2% 5.6 4.2 9.8
Y B | HEBSU/ZESELE/2SH 3.4 9.2 4.3
2SS /AR A/ A 2.7 5.5 6.8
/2 2AAMNE =X 3.2 1.1 7.1
=0t/ +2 2 J& 9.2 5.8 -
4 ol ol ot 21.5 4.9 5.2
= AFKH 5 ~ 9 el 8.4 1.6 4.9
- 2/ 1 0 ~ 9 9 ¢ 2.5 1.7 7.4
1 0 0 @ o & 2.6 1.9 3.2
9ol & - 20.2 2.2 6.8
! A - 8.2 6.2 8.1
PN o & 8 = 3 19.5 4.8 2.8
o & 3 ' 3 21.7 5.7 4.1
e oH = 22.5 2.8 4.2
N AE g A 20.5 4.6 5.4
= = | 3 At = ol 9.3 2.5 6.0
g B a3 A o 2 g o 1.7 3.4 5.6
H & o = A - - 2.0
2 0 0 0 ¢ o A 25.1 2.9 5.6
2001 ~20054d 16.8 5.7 9.4
¥ A
o | 2006 ~20104d 12.8 2.6 3.7
- 2011 ~20154 15.6 5.0 4.8
2016 ~20204d 19.0 4.4 5.1
6= A 22 Al 19.4 4.4 5.1
Abed Al
5 = 2 A 2 & s 6.2 3.2 4.0
N AH-X &, 948 5.2 2.7 9.2
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20-2 AKX s g2¢ =224 S¢
Sl %)
| A as | 2sum
oty 2 ME 2 = g J|El
d i e | OI% E) JiEs
2 2 55.8 43.8 49.0 32.5 52.4
[= it 56.0 33.6 61.2 33.4 60.6
=) = g 60.3 39.7 63.6 34.9 49.2
& JAHE 2 35.9 41.0 46.3 31.3 49.5
o9 =| /28ed/ 38.5 55.7 18.2 28.2 49.1
M2 !E /ALY E/ 48.0 37.4 24.4 29.0 60.1
] 2 A A3 52.3 61.9 28.6 26.6 43.9
=0t/ 2e ¢ 66.2 58.1 32.4 33.5 47.7
4 0l 58.9 43.5 52.8 33.9 52.9
=na%| 5 9 51.7 30.8 32.4 28.8 53.9
w2 1 9 35.6 61.4 36.7 25.0 47.0
1 ol 0 23.9 47.7 32.3 31.0 47 1
o & 58.2 49.2 49.1 38.1 50.8
A & 49.2 41.6 35.8 30.6 47.7
X o ot g = 58.2 46.0 47.7 26.6 66.4
o 3 @ 59.7 28.6 51.7 36.4 61.8
zl ah 53.0 50.6 65.1 28.9 32.9
o A 59.6 415 52.3 34.3 53.4
X = 3| = 42.4 46.5 36.4 27.7 52.8
g Hi 3| Q9 ¥ 18.3 73.0 24.9 12.5 36.0
H ol = 34.4 82.3 24.4 15.6 35.6
2 0 & 0l 39.5 49.4 52.5 22.0 57.8
2 200 34.9 48.2 45.5 28.9 66.6
= o
2 2 0 1 49.7 49.1 48.9 37.8 47 1
o =
2 2 0 1 58.3 428 51.6 27.4 57.0
2 202 66.5 40.0 47.6 37.5 46.9
c A 56.9 42.8 50.6 33.4 53.1
AF e R
S o = 2 = 49.5 35.3 42.9 44.3 40.0
X Ab 9 A S 43.5 59.4 29.3 18.5 46.1
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21. 2020 THEOGR & HE MR

(21 %)
S 8 aws a2 %S

2 0 1 8 100.0 28.8 71.2
2 0 2 0 100.0 38.0 62.0
< A it o 100.0 37.4 62.6
s A 0= g o 100.0 49.2 50.9
MO/t /A /2% 100.0 32.0 68.0
¢ B | HESH/ZEEE/EsH 100.0 13.3 86.7
Menst/ AL/ 100.0 30.4 69.6
nE/2 M =X 100.0 26.8 73.2
Moot/ 2=2 ¥ JlE 100.0 39.5 60.5
4 ol ol ot 100.0 39.4 60.6
=AL | 5 ~ 9 ol 100.0 37.2 62.8
7 2/ 1 0 ~ 9 9 o 100.0 26.9 73.1
1 0 0 9o o & 100.0 22.6 77.4
ol & - 100.0 38.6 61.4
= & 3 100.0 42.4 57.6
N9 ob & g o= o3 100.0 39.7 60.3
1 100.0 25.4 74.6
X o = 100.0 42.2 57.8
e oAb Y A 100.0 41.8 58.2
= = | 3 Ab = ol 100.0 24.7 75.3
g Bl o5 A 0o 2 g o 100.0 2.0 98.0
T R T 100.0 10.9 89.1
2 0 0 0 @& o A 100.0 20.6 79.4
2001 ~2005 100.0 30.4 69.6

a3 4
o o | 2006~20104 100.0 35.8 64.2
- 2011 ~20154 100.0 36.0 64.0
2016 ~20204 100.0 46.8 53.2
¢ = A4 29 A 100.0 39.9 60.1

IR
5 2| B N, =2 B3 = 100.0 40.8 59.2
NA-XH,dd4s 100.0 12.7 87.3
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21. 20204 H&E0E L AR (HH)

(21 %)
HEAS
T g | oax | ohas | TRlS | aeas | o
2 0 1 8 100.0 7.1 7.4 82.2 1.9 1.4
2 0 2 0 100.0 2.7 9.0 77.6 9.3 1.4
< A it o 100.0 4.6 1.5 75.5 13.8 4.6
s A 5 % o 100.0 1.6 1.2 79.1 8.1 -
O/t / AL/ 2% 100.0 6.4 13.4 73.7 6.5 -
o = | F2ESH/282E/RsH 100.0 12.5 6.5 61.6 19.5 -
M2/ AU 100.0 6.2 12.0 74.8 6.9 -
g /2AMSF X 100.0 0.1 12.1 76.1 11.8 -
Ml =0t/ 22 % JlE 100.0 - 14.6 82.4 2.9 -
4 ol ol ot 100.0 2.9 8.3 76.5 10.6 1.7
=AM | 5 ~ 9 ol 100.0 1.3 15.3 79.7 3.7 -
7 2] 1 0 ~ 9 9 ¢ 100.0 3.1 7.7 87.0 2.3 -
1 0 0 o o & 100.0 2.9 5.7 88.6 2.9 -
9l & 2 100.0 1.5 7.4 82.5 8.6 -
= A = 100.0 2.6 1.4 77.1 7.0 2.0
AN oo o0 & g o=z 3 100.0 3.2 3.4 83.7 7.5 2.1
I P - 100.0 5.4 3.3 65.2 26.1 -
X o = 100.0 2.7 19.2 70.6 4.8 2.7
Moo A ™ 100.0 2.5 8.9 77.5 9.6 1.5
x = | 3 Ab = ol 100.0 5.9 8.1 81.5 4.5 -
g B 3 A o o2 @ o 100.0 2.4 2.4 19.1 76.1 -
B o® o = g 100.0 - 52.2 47.8 - -
2 0 0 0 @ o A 100.0 4.6 7.2 76.4 5.9 5.9
2001 ~2005 4 100.0 5.6 2.8 75.6 15.9 -
i i 2006 ~20104 100.0 - 4.3 82.0 9.7 4.1
- 2011 ~20154 100.0 - 7.6 78.7 13.7 -
2016 ~20204 100.0 3.6 1.7 76.7 7.2 0.8
8 = A g F 100.0 2.5 9.3 77.3 9.5 1.4
A4

S 2| 2N 2 B S 100.0 12.5 8.1 70.2 9.2 -
N AR E,gdars 100.0 5.4 - 94.6 - -
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21-1. UEJ|1HE HEH

ol ok
7 =2 s o X X NE=ES olel e
NI TH et 2812

2 0 1 8 2,263,663 104,203 406,167 | 1,498,011 255,281
2 0 2 0 4,188,249 411,911 | 1,927,119 | 1,522,440 326,779
< A il o 535,911 100,316 153,557 226,254 55,783
s A = 8 812,743 57,241 366,478 345,409 43,614
MOl /Gt /AL /2% 831,063 21,803 442,470 241,517 125,273
o =| ZEsM/2s82H/2sd 92,125 9,868 20,641 47,675 13,940
Henst/ AN/ g 205,458 2,215 130,047 70,164 3,031
DS /22 AM35 2 X 811,318 40,178 344,024 422,165 4,951
M=ot/ 22 2 JlE 899,631 180,289 469,900 169,256 80,186
4 ol ol ot | 2,387,954 352,703 | 1,397,669 541,430 96,152
=AM | 5 ~ 9 ol 531,379 49,394 169,314 189,959 122,712
" 2 ~ 9 9 o 895,351 6,212 335,713 518,429 34,996
1 0 0 o o & 373,565 3,602 24,422 272,622 72,919
9l & 2 623,490 96,624 228,749 259,854 38,263
= A 2 1,300,568 195,273 364,083 704,528 36,684
A oo o0 &4 g o=z 3 1,033,836 18,358 674,924 199,241 141,313
o & 3 =& 3 287,110 25,436 140,668 108,769 12,237
X o =] 943,244 76,220 518,695 250,048 98,281
D/ - TR V= < 3,010,252 388,816 | 1,459,085 944,975 217,376
x = | 3 Ab = ol 1,048,046 13,861 462,532 463,650 108,002
g B 3 A o 2 @ o 115,924 400 5,502 108,622 1,400
B o® o = g 14,027 8,834 - 5,193 -
2 0 0 0 & o A 460,694 171,626 115,371 164,732 8,965
2001 ~2005 4 520,108 39,857 105,959 366,691 7,601
i i 2006 ~20104 964,915 16,916 423,410 339,166 185,423
- 2011 ~20154 813,690 63,002 510,955 229,618 10,115
2016 ~20204 1,428,841 120,510 771,424 422,232 114,675
¢ = A9 A 3,684,919 410,697 | 1,630,788 | 1,331,098 312,336
ig;ﬂ = AN, =2 B S 416,065 400 272,211 130,314 13,140
AT &, g A 87,265 814 24,120 61,028 1,303
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Iv. ¢38& 2 8L

22. M4\ OH| = &
(Sl %)

2= g | | uma | wze | som | 0P
2 0 1 8 100.0 32.8 40.4 25.6 1.2 -
2 0 2 0 100.0 19.2 38.5 36.3 5.6 0.4
< A it o 100.0 17.8 35.7 37.0 8.3 1.2
s A = g o 100.0 23.8 42.8 28.6 4.8 -
MOl /Gt /AL 2 S 100.0 11.1 30.7 50.7 7.5 -
o = | FE2EN/382E/2sH 100.0 7.4 26.8 60.9 4.9 -
M2/ AKX/ A 100.0 14.1 41.9 39.0 4.0 1.0
DS /22 AMN35 2 X 100.0 12.7 39.1 41.7 6.5 -
M=ot/ 2e2 2 JlE 100.0 26.7 41.7 30.5 1.2 -
4 ol ol ot 100.0 20.9 40.4 34.1 4.4 0.2
=AM | 5 ~ 9 ol 100.0 10.5 31.7 46.9 8.8 2.2
7 2] 1 0 ~ 9 9 ¢ 100.0 14.7 31.0 41.9 12.5 -
1 0 0 o o & 100.0 8.4 32.3 54.8 4.5 -
9l & - 100.0 24.0 35.1 33.1 7.2 0.6
= & =] 100.0 23.1 32.5 39.9 4.5 -
A oo b &4 g o=z 3 100.0 19.3 39.1 36.9 3.8 0.9
o & 3 & 3 100.0 7.6 48.1 42.6 1.3 0.3
X ol - 100.0 17.5 41.6 29.6 11.3 -
Hoooer A ™ 100.0 20.4 411 33.2 5.1 0.2
x = | 3 Ab = ol 100.0 15.1 26.4 47.3 10.8 0.4
g B s A o 2 " o 100.0 4.8 26.0 63.1 0.0 6.0
B o® o = 100.0 14.6 23.3 56.5 5.7 -
2 0 0 0 & o A 100.0 18.0 36.4 38.9 6.8 -
2001 ~2005 4 100.0 15.7 39.6 43.9 0.8 -
i Ai 2006 ~20104 100.0 18.0 44.7 33.6 3.7 -
| 2011 ~2015 @ 100.0 18.2 42.4 31.2 8.2 -
2016 ~20204 100.0 21.1 35.6 36.6 5.7 0.9
e = A g F 100.0 19.9 40.1 34.4 5.3 0.2
A4

S | =M = 8 S 100.0 11.3 24.7 60.4 3.6 -
N AR E, oA s 100.0 1.4 20.5 55.8 9.7 2.6
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22—1. H&0| £0t&l 0l=
(21 %)
_ olzists | 2% | N2XY | AEXRY | AZH)}

T = g g0 | go | 8o | mol | as | '
2 0 1 8 100.0 0.8 - 16.1 26.6 12.8 43.6
2 0 2 0 100.0 3.7 4.4 14.0 15.0 15.3 47.5
< A it o 100.0 - 6.1 19.0 18.2 25.4 31.4
s A = g o 100.0 - - 16.7 16.7 - 66.7
o/t / AL/ 2% 100.0 10.0 18.6 8.6 26.8 27.3 8.6
8 E| HESH/BSEE/RSH 100.0 - - 16.4 16.4 - 67.2
e Ws/AYXI /A 100.0 20.3 - 1.1 - 22.1 56.5
g /2 AMSF X 100.0 17.2 - 0.2 - - 82.6
Ml =0t/ 22 % JlE 100.0 - - - - -| 100.0
4 ol ol ot 100.0 3.3 4.8 10.6 21.4 7.3 52.6
=AK | 5 ~ 9 ol 100.0 8.6 4.2 15.4 - 30.9 40.9
T2 ~ 9 9 ¢ 100.0 - 3.7 22.8 10.3 24.7 38.4
1 0 0 o o & 100.0 14.3 - 42.9 14.3 - 28.6
ol e} 2 100.0 5.7 8.1 17.1 18.5 25.9 24.6
= A = 100.0 - 4.7 4.7 3.8 4.7 82.3
Ao« ob & g oz 3 100.0 0.2 - 22.7 22.7 - 54.4
I N 100.0 - - 0.6 16.3 - 83.2
X ol =] 100.0 5.8 2.9 12.4 12.4 18.7 47.8
Moo A ™ 100.0 2.8 5.0 14.8 17.9 10.2 49.4
x = | 3 Ab = ol 100.0 7.6 3.7 14.3 9.1 35.3 30.1
g ol 5 A o 2 @ o 100.0 - - 0.8 - - 99.2
5= A TR = S < 100.0 - - - - - | 100.0
2 0 0 0 @ o A 100.0 0.2 - 18.0 22.3 43.1 16.5
2001 ~20054d 100.0 - 59.1 - 40.9 - -

3 A
o o | 2006~=20104d 100.0 - 9.8 50.2 0.3 39.6 -
- 2011 ~20154d 100.0 6.4 - - - 15.1 78.6
2016 ~20204d 100.0 4.1 5.9 15.3 22.3 3.1 49.4
¢ = A o2 A 100.0 3.4 5.2 16.5 16.9 10.8 47.3

A4
5 | E AN, =2 B S 100.0 94.6 - 2.7 2.7 - -
N AR E,9dars 100.0 - - - 5.0 43.3 51.7
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22-2. HEO0| Litt& Ol

(2l %)
o124y e84 === -

7 e & 7 Oél;ié Ao*ggjlb Soze | @enu
NEE olzs = Tgae
2 0 1 8 100.0 33.2 9.9 2.1 2.7
2 0 2 0 100.0 14.1 5.0 0.5 3.9
[ A 0 o 100.0 9.7 4.3 1.1 7.5
g A =& % 100.0 17.8 8.4 - 4.8
O/t /HE /2% 100.0 15.6 18.3 - -
o | FESU/28EE/BESH 100.0 21.8 0.1 - 2.5
M WE /A 100.0 22.7 - 3.6 5.3
ng/22AANE =X 100.0 14.9 - 0.0 -
M=ot/ %2 2 JlE 100.0 10.2 1.7 - -
4 ol ol ot 100.0 12.3 5.2 0.5 3.2
=AM | 5 ~ 9 ol 100.0 22.0 6.2 - 5.1
o= 1 0 ~ 9 9 ¢ 100.0 25.5 2.0 1.3 1.3
1 0 0 @ o & 100.0 44.4 1.6 1.6 -
] & = 100.0 15.6 6.0 0.3 6.7
= & = 100.0 20.3 0.9 0.5 2.0
X o oh a8 = R 100.0 1.6 1.4 1.4 4.4
oF & 3 ® 3 100.0 1.3 5.9 - 2.4
X ol = 100.0 9.9 12.3 - 2.3
N A g A 100.0 13.2 5.2 0.5 3.8
= = | 3 Ab = ol 100.0 19.0 4.6 1.0 6.8
g H 3 AF O 2 ¥ o 100.0 25.8 - - -
5= B T = S < 100.0 25.8 0.2 - -
2 0 0 0 & o A 100.0 9.8 4.6 - 2.2
2001 ~20054 100.0 5.3 4.8 - 1.9
f i 2006 ~2010 4 100.0 19.0 2.3 2.3 2.3
- 2011 ~20154 100.0 17.8 4.1 0.4 7.1
2016 ~20204 100.0 14.2 6.5 0.2 3.9
¢ = A g A 100.0 13.7 5.1 0.4 4.0

INE=Bs]
5 = 2 A 2 A# s 100.0 0.3 16.3 - 10.4
NA-XE,d8 4S8 100.0 27.6 - 2.1 -
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22-2. AE0| LA 0I® (H)

(91: %)
(o] H
2 = sB@N) | ENUS | @M | goa | o
= - B < | 233

2 0 1 8 5.8 1.1 20.1 0.7 24.4
2 0 2 0 3.0 2.4 26.5 0.1 44.4
< A O o 9.6 3.2 29.0 - 35.5
s A & g o - 2.4 23.8 - 42.9
MO/t / AL/ 2% 1.7 6.7 35.7 - 21.9
¢ | HESU/E8EE/RSH 5.1 2.5 32.0 - 35.9
M WE /ALY Y 2.0 3.3 30.9 1.6 30.6
g/ 2AANE =X - 2.2 15.9 - 67.0
ol=0iJb/22 2 JlE - - 28.7 - 59.4
4 ol ol ot 3.5 2.7 27.6 0.1 45.0
= AXH 5 ~ 9 ol - 1.1 24.9 - 40.8
= 1 0 ~ 9 9 o 1.3 1.0 15.9 - 41.6
1 0 0 @9 o & 4.8 3.2 22.2 - 22.2
9l & = 2.2 1.6 34.3 - 33.3
= o = 2.4 4.3 13.0 0.4 56.3
N9 ob & g o=z 3 4.3 1.8 36.0 - 39.0
I I 4.7 4.7 25.4 - 45.6
x Gl = 1.9 - 18.4 - 55.1
N A g A 2.9 2.5 27.7 - 44.3
x = | 3 Ab = ol 5.6 2.6 18.0 1.0 41.5
g B o5 A 0 o o® oo 0.2 - 21.0 - 53.0
5= B o = - - 13.7 - 60.3
2 0 0 0 ¥ o A 9.5 4.1 25.7 - 441
2001 ~20054 1.0 7.6 26.4 - 52.9

¥ &
o | 2006~20104 0.5 5.2 35.8 - 32.5
- 2011 ~20154 3.3 1.9 25.9 0.4 39.1
2016 ~20204 2.1 0.1 24.4 - 48.6
6= A2 Al 3.1 2.5 26.8 0.1 44.2

INR=B]
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